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LECTURE NO. 3

21.12.2024

HELLO EVERYONE!

Chapter 3
Felicity Conditions and Discouyreg

Austin argued that the person performing the speect,
circumstances) have the required thoughts, Hmmm""ﬂﬂnh
speechacttobe ‘felictows’. oty
Felicit)" here means "for an utterance !n work" ‘\Usﬁn : 4
that for a speech act to actually work, there is a set of ¢op ditim: telling ~
to be met. For me, as a speaker, it's to get my meaning aCross :-1 gy
hearer. That's what we mean by ‘a speech act to work', riop s o Y% a
the conversation.to be successful, and to have a successfy) in;(;r ¢ IS fo
have a successful speech act. Ction, 4,
[ 3-There must e = genarally accapted procédure (ie, the oy —
recognized by convention) e
The first condition would be to have an _lcceptma;ﬁ
mean by this is that the people interacting in this speech act mﬁs:m”
how things go. What do I mean by procedure? For example ],nh_‘f’w
someone to a wedding through the use of a written wedding 1;1v,m
Basically, if Fm having a-wedding, what is the accepted Procedure? Wp,
is the accepted way of inviting people to a wedding? How does it usually

go? | _

Student: Sending cards.
- Instructor: Yes. That is the accepted procedure for inviting people to 3
wedding. You send them a card, or maybe an email. Nowadays, they are
doing it by WhatsApp. But, you need to actually get a card. It needs to be
addressed to someone. It needs to be formal. It needs to be maybe printed,
or maybe emailed. So, for an accepted procedure, we can say an accepted
- way of doimg something. If I mvite you verbally to my-sister's wedding -
tomorrow, would this be okay?

Student: No.

Instructor: Of course not. It also depends on context. So, if yu'r™ |
someone close to me, the accepted procedure for the invitation wouldn'
be in a formal way. It's just to have an accepted way of things gomng. This
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i_S_ _!ﬂ meet the ﬁ.‘lil.‘ll}‘ conditions to make a successful "P{‘ﬂ‘h act
| - The circumstances must be appropriate (i.e. appropriate setting,
munmdp.mdp.nh;

If I'm mviting vou to a wedding, there shonld be a wedding happening,
rght? So, 1 can't invite vou to a wedding and there's no wedding. That's
why we're saving that the circomstances must be appropriate | can only
INVIC vou to a w edding and we can only have a successful speech act (f
there 1s a w ﬁldmg

3. MMMMWM¢MN‘W
" 4 The person performing the speech act must (in most circumstances)
have the required/appropriate thoughts, feelings and intentions (i.e.
|speakers should be sincere in their acts)
I can't invite you to someone's wedding. That person should invite you.
nol me. So, that's what we mean by the person carrying the speech act
must be appropriate. It must be the appropnate person to carry it out And

- --s0, they must have-a-cerlain authority over suceessfully carrying out the

speech act.
- ‘ All in all, the communication must be carried out by the right person, in

the right place, at the right time and, normally, with a certain intention or it
will not ‘work’.

So, the right person and the right place. |

- L= -if the first two-of these conditions | «- If -the -third of these conditions
are not satisfied, the act will not| does not hold, then the procedure
- - be achieved and will ‘misfire’._ . . | will be ‘abused”. |
— If these two conditions are not|— If it's not the nghl time the
there, the speech act will misfire:| procedure- will be abused which
For example, if I'm inviting you to a | means to be used in a wrong way.
wedding and iliere is no wedding,
(this will misfire on you and me.
Basically, it's going to be wrong.

L2 3

Rules Versus Principles
Austin set these velocity conditions. Some people took it as rules, and
others took it as principle. Now, we have Searle. Austin sect velocity
conditions. Searle took those and called them rules. And we have another
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Thomas who « something fixed that we Musy ':;

- A, n

ed R
reecarchef enll - ules’? It

mt"ln w nght ‘m_wmﬂs L = S

I
What do it F".'

Something !
v They are rules TS And. smma?-lhmg : whlqh makes
( | les that yr::u have to Thomas. Right? S0, this is zerq,
defines the rules it Seqﬂﬂ- s

Thomas disagreet
I umﬂMﬂmmmb

. nhm:‘ﬂ"" e
 the ' les-and principles? Thomas g, <

- between ru
What's the difference - _ .. : Esqtﬂ support her argumeny-

P e ‘all o nothing’, whersss
a ':'heﬁrslofthmisﬂmt ‘rules are all or Ilﬂthil}g’- Whatdomcy_—““'"_-‘
Student: Either you obey all rules and apply 1L, or you are out ﬂl'“tlm

mf:ﬁ‘mt; Yes. thank you very much. So, it's a yes/no thing. And, yoy
cither obey: it or not. There is no in-between.

However, she says that 'principles are more or less'. ._So, they can be
-applied partially. We don't- have-to-apply them super-strictly. Basically,
you can speak either fairly clearly or not clearly at all. So, we have
degrees to this thing.
| 2. Rules are exclusive whereas principles can co-occur.

Basically, rules can be the only one who can apply. While principles
can co-occur. More than one principle can happen together. But for rules,
it's like only one rule applies. But-for principles, more than one principle
might be applied at the same time. 'Occur’ means to happen. "Co-occur
mcans to happen together.

3. Rules aim to define a speech act, whereas principles describe what

people do. —
What's the difference between defining and describing?
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Student: It depends on the flexibility.

Instructor: Yes. Thank you so much. For rules. we're saying they
define a speech nct. Tt's basically just like we said. It's yes or no. So, me,
as a researcher, 1 am telling you what is supposed to happen. But for
principles. 1 am describing what is happening, and I'm not telling people
what to do. 1 am secing what people are doing, and I'm describing it. So,
yes, 1t has to do with the flexibility. -
| 4. Rules are definite, whereas principles are ‘probabilistic’. |

Just like we said, they describe a yes or no. They are exclusive. They
arc define. llere, by ‘definite’. it means that 1t cither does apply or does
not apply. You basically have a yes or no thing. It's not like you have
multiple things that happen. But for 'probabilistic’, it describes what is
more likely or less likely to happen. Rather than something that does or
doces not apply.

5. Rules are arbitrary, whereas principles are ‘motivated'. - |
-~ - Rules arc arbitrary; 1-decided what is correct. But when we say that
there are principles are motivated here, that basically people follow them
for a reason. People follow them for a purpose to achieve something. So,
when principles are motivated, it's because we hold them to achieve
something. Not because they are rules. Because we are motivated to do
something.
|
if, for example, someone apologizes for something (in English) there is |
— - ithe assumption that. they were responsible.for what.has been.done (or in a
position to represent this on someone else’s behalf), have actually said ‘I'm
- - |sorry’-are sincere in what they say and will do semething to rectify the
situation, if this is required (or possible).
_What's the benefii of taking a principle approach rather than a rule
approach to specch acts?
. .|1. Taking .a principles-based view of speech.act performance, rather than a
| rule-based one, thus, describes what people often do, or are most likely
to do, when they apologize, rather than what they ‘'must’ do.

o e e

Five characteristics of fu]es Five characteristics of Prinl‘:iﬂﬁ
All or nothing More or less

DA 4.3+4 5 | T AYDI® 2025 T2




I wclu=ive |
Define a speech act |
Definite

What's the meaning of presupposition? It's what y, assy
what you assume things going to happen. - e "eality u
Presupposition refers to the common ground that jg .o '
Mh"mu:humumﬂ:""“hﬁ
of the world. tiom
Basically because we as speakers, we know how things are g
So, we have that common presupposition that helps ys. We hr;ﬁem ~
kinds of presupposition: i - e twy
_ -1, Conventional presupposition. 2. Pragmatic presuppositioy

For conventional, have we said that a presupposition d;;c,'i&s--
common ground that language speakers share. the

- Conventional presuppositions B

They are less context-dependent than pragmatic Presuppositions and are
typically linked to particular linguistic forms,

For_conventional, it is known by all people. And it's not contexys.
dependent. And all speakers know it. Basically, a conventional thing tha
happens in a language. [ i

P ’ =
| They are context-dependent and arise from the use of an utterance ina
particular context. - -

Both kinds depend on the context. However, one of them is less
context-dependent than the other,

[ Examples o
Conventional presupposition” Pragmatic presupposition

B T = = —

|
|

oW
i

‘Would you like some coffee?’ 'In the delicatessen section of 2
‘Would you like anything to drink?’ | supermarket:
A: Customer number two! e
B: Ah . . . could | have 250 grams
' honey smoked ham please?

AvDI9 2025

44

DA 4. 3+4 6




» If 1 say, would you like some  » When you're in a supermarket
coffee? This suggests that P've or a bank and took = ticket
already prepaved some coffee. number, and then your number is
But if 1 say, would you like called, the pragmatic supposition
anvthing to drink? It means, here is that you know you should
like. 1 have not prepared go, and that there are services to he
anvthing. I'm asking you what offered. Because you are in a place,
would vou like to drink. So, 1 you arc in a time, and you have a
have not preparved anything. ticket. So, when your ticket number

| {8 due, you would po there, and you
'would say, | want this and that.

Presuppositions are crucial to an understanding of what people mean by |
what they say in spoken and written discourse. Often, we presuppose a
person will havea similarunderstanding to us in terms of what we mean by |
what we say, ltlslndndbacluupmplemktﬂmmpmtlnt

- .- idiscourse {(normally). proceeds as smoothly as it does. B

Basically, both conventional and pragmatic presuppositions are
extremely important for us to understand each other, to assume that an
interaction or an utterance will go smoothly.

.

What does 'cooperative' mean?

Student: Something done by at least two persons.

Instructor: Yes. So, for us, as speakers, to understand each other, to be
able to interpret.what yon are saying, and for me.to understand what [ am
saying, there must be a kind of cooperative principle happening here.

The cooperative principle says we should aim to make our conversational
contribution ‘such as is required, at the stage at which it occurs, by the
. [accepied purpose or direction’ of the exchange in which we are engaged.

The conversational contribution must be:
. 1. such as is required; it has to do with quantity (basically saying whs
is needed, not less or more),

2. at the stage at which it occurs (the appropriate time & th

appropriate point of the interaction),

3. and lastly, by the accepted purpose (my intention).

o e.g.

DA 4.3+4 7 AYDI® 2025 T



If you remember the example of the ticket, ang the
your name, the cooperative principle here would pe. Person is

1. The gquantity: 1 would sny'e:nully what [ negq. F g R oy,
wouldn't say less. [ wouldn't ask them about (e, d dhyy

2. 1he appropriate time: | wouldn't say what | wantﬂmfm hat
1 m?

called. . | M,
3. The purpose: | have a certain intention which jg m 0
T . "“ding y

¢

Gricean
For the cooperative principles, we are going to ta|) aboyy
have four maxims: M Ximy,
| 1-Quality 2- Quantity 3 l}el_nm :
Maxim is similar to a rule. Not exactly a rule, not &a&b'.m“ ~
All of them are slightly different. ’ Princip),

. (® Maxim of quality: S

It means truthfulness. So, saying|Or what I'm sayin <
what 1 believe is the truth. 'm not : hm\

saying something that is a lie or
unirue.
I say the required contribution. So, I'm not saying less thap js e
and I'm not saying more than is required. I don't say more infmqﬂrmaliw
than is required, and I don't say less information than s required.
¢ Maxim of relation: ' iy & . i
We have to make our contribution relevant. T
What do I mean by this?
Studcnt: Direct about the same subject you want to talk about.
Instructor: Yes. I'm talking about the same subject. If we're watchinga
film, and then I ask you about the, your sister's wedding yesterday. Are
these things related? |
Student: No.
- Imstructor: So, I must-stay on topic of the conversation. 1 don'
suddenly bring something out of the blue, or something that doesn't relate.

s Maxims of Conversatiop.
3

—
—

—

So, relation means relevance. —
% Maxim of manner: W -
DALI T T Ameast
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This onc has to | Avoid obscurity | Be orderly Be brief
do with clarity | of cxpression &

r\\'nid

ambiguity

W e.p. (speakers observing all maxims)

4 Hi What would vou hike?

B: Two hundred grams of the shaved ham thanks.

In this example. they follow all maxims: the quality, the quantity, the
manner, and the relation.
" We, thus, expect a person’s contribution to an Interaction to be genuine,
" This is the common ground that we talked aboul. We expect from the
language speakers thal we are speaking with to observe all of these
maxims. We expect them lo be truthful. We expect them to talk about
something that i§ relevant. We expecl them lo say the approptiate amount
of information. And we also expect them to be clear. We, as speakers,
observe all of these. Or we expect other people to observe all of these.

Grice argues that we assume a speaker is following these maxims and
combine this with our knowledge of the world to work out what they mean
by what they say.

However, we don't always follow them. Why? Because we have a
different intention of what we want to say. So, different contexts and
different situations may have different understanding of what is truthful,

brief, or relevant.

Filcuting the Cooperative Principle
They gave us an example to show you that you ecither choose not to
_.follow these maxims or it's just not possible to be followed. They use the
word 'flouting' which is 'not observing/not following'. So, if I didn't say
something truthtul, 1 would be flouting the maxim of quality.

% e.g. (1) (Flouting the maxim of quality)
-- -+ Librarian: (raises his eyes, looks-at the student with no facial expression) |
| Student: Hi. Could you check for me whether | have any books to collect?
. Librarian: (swipes the student’s card, clears his throat, wipes his nose with
a tissue, glances at the computer screen, turns to the shelf to get a book, |
then another book)
Student: Any more?
Librarian: (turns and gets a third book, stamps them all with the return
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date)

Student: Is that all?

Librarian: Are you going to borrow all the books iy, the

Student: OK ... . | see . . . thank you very much library,

What maxim here are we flouting? We are out;
quality If you look at the utterance, "Are you Rmnﬂ"'lﬂ e May
books in the library?", the librarian and the student km,.,.,“ e ;I’" of
can't possibly physically borrow all the books in the Iih: thay the 'hl the
being sarcastic here. So, he's flouting the maxim of - ! Ayhe
savang something that is truthful. However, he has 5 i“:'I.;ll.l - He, he,
and he knows that the student will understand his intﬂmi:" lng,a.”‘n'_:
doesn't mean it's a bad thing. So, not following the rnmﬁmn. 50, gy
case of flouting, is not a bad thing. Just like we said, %rcag,:; *'-'!P'Ecj."yh!:
& 2.9. (2) {Routing the-maxim of relation) =
. Chinese student: What do you do in America? -\\

~-American student: | work in a bank.

 Chinese student: It's a good job isn‘t it?
American student: Well, just so so.
| ﬁmmm,hwmchhmrsﬂaqmmﬂ“
 American student: Oh no.

Chinese student: What's wrong?
- - American student: Why are you asking that?
Chinese student: Just asking, nothing else . . .

il

—————

| American student: The station isn’t far is it?

s -

The Chinese student is asking the American stum
information. Because in Chinese culture, it's normal to ask a person hoy
much they earn per salary. But American and Western people cannot
accept this. So, here the Chinese student is flouting the maxim of
relevance. He's asking for stuff that was not related to their topic. Maybe
because they're both students. Why would you ask me what I do? Why

- would you ask me how much money I make?

. e.g. (3) (Flouting the maxim of quantity)
—-Az-Can | getsix thin slices of Danish ham please?

| B: Six thin slices. ...

| B: They're all really thin, so. . . . —
== ‘m:ﬁls.ﬂ

DA 4. 3+4 10




Here we're Mlouting the maxim of quantity because we're saying more
than what i1s needed. Danish ham is kind of famous, so everybody knows

that it's thin slices

Differences Between Flouting and Violating Maxims

I am fMlonting sometimes becanse perhaps I don’t know, like the Chinese
student that Nowted the maxim of relation because they simply do not

know American culture, —
| A speaker is ‘flouting’ lmuhnlflhnydenutoburn-mhmhum

lintention of deceiving or misleading the other person.

So. they didn't flout it because they wanted. Perhaps they flouted it by
accident or for lack of knowledge aboul the different culture.

But violating mcans llml | have a purpose fur not following the maxim.

| A person is ‘violating’ 8 maxim if there is a likelihood that they are liable

'to mislead the other person. _
If 1 know the truth and I choosc to say the lie, this means that I'm
- violating' the maxim.~ So, the difference here between violating and

flouting is about your intention.
“Infringing = 3

A speaker may ‘infringe’ a maxim when they fail to observe a maxim with
— | mo -intention to deceive -(such as where a speaker does net have the
[inyuisl:ic capacity to answer a quutiun).

..~ Opting Out

A speaker may decide to ‘opt out’ of a maxim (such as where a speaker
- [ may, for ethical or legal reasons, refuse to say something that breaches a
confidentiality agreement they have with someone or is likely to incriminate
them in some way).
Overlaps between maxims
An utterance may flout two maxims at the same time {(such as, being
unclear and longwinded flouting the maxims of quality and quantity at the
same time. Equally it may be socially acceptable, and indeed preferred, t«
- tflout-a maxim-(such as quality) for reasons of tact and politeness, such a
when | ask someone if they like something | am wearing, and they don't.
-- Sometimes -1 am--flouting more than one maxim at the same time
Sometimes it's also socially preferred to flout a maxim. For example, if
ask you guys, 'Does my jacket look nice?' You might not like it. But yo
say, I like it. You might hate it. You might think it's horrible. However, i

DA 4. 3+4 11 AYDI® 2025 T2



is socially preferred here to flout the maxim of quality,
It doesn't mean that we have the right or WIONg way .

depends on the context. And we are using these Maxims iy, o ing!_ :

to understand how discourse is made. Ordery,, . "a

Jugy
N is important, then, for both the production ang y
mﬂmmmmmm.%“

following these maxims.
In order for us to understand each other, for the speaker 5 ]
to interpret and infer the meaning, we need to know Whr:: the heag
le are following these maxims, ®Xten the
Metapragmatics and Discourse
The word meta refers to when we are aware of the things tha
5-!.}’1[18 { We arp
Nwﬂuuhn'tuﬂumin'mh\
awareness of what they're saying in the discourse. e display Pury.

If I'm telling someone¢ a joke, I would tell’the%
Rt

hurt their feelings, for example. I'm aware of what I'm doing ang o
others what I'm doing. When I say 'In conclusion, | migp i
conclusion, but I'm referring to what I'm doing in my sp cch. Y the
Cross-cultural Pragmatics and Discouyrse
Remember when we said different cultures have different Pragmaticy '
and different meanings of things? They gave us an example:
¢ eg. R
| Apology for the Japanese studéents “a matter of coiirsa” s
Apology for the English builder “taking responsibility & agresing 1 4
The English worker did something wrong and the Japanese student
wasn't satisfied with the service. Here, the Japanese person expects an
apologize from the English person. This is the expected norm for the
- Japanese people. But the English person didn't apologize because for the _
English person, if he apologizes, that means that he's taking responsibility
- -for what he did. And by taking responsibility, he perhaps is going to have
to fix it or pay money. But for the Japanese person, apologizing is just par
- of social norms and that doesn't imply anything else.

DA 4.3+4 12 .  AYDIO2025T2
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Different languages and cultures, then, often have different ways of
dealing with pragmatic lssues, as well as different ways of observing |

Grice's maxims. |

¢ eg. (1) |
Speakers of different languages may have different understandings
of the maxim of quantity in conversational interactions. (English &

French speakers communication in the work place) |

"How are you?' / Did you have a good weekend?’
This 1s a study that has been carried out about communication n Ihe

work place through asking English and French workers "How are you? /
How is it going?":
I- For English people. they expect others just saying, "I'm fine. Thank
you."”
2-For French people, they talk about their weekends and how everything
in their life has been going.
— The French person is violating the maxim of quantity because they
have a different way of observing the maxims.

<+ eq. (2)
Recommendation letters in the Engllsh academic satting VS. the

Japanese academic setting

In English recommendation letters:
I-They are usually informed. They say a lot of things about the person.

2-They're concerned with whu wrote it. Are they prnfessnrs‘? Is 1t the
boss?

3- They neced to have a lot of information about the person.

In Japanese recommendation latters:

1- They're usually short.

2- They expect the person that you gave the letter of recommendation to
ask for more information.

- It's-just different ways of following-the maxims in different cultures.
‘Thank You
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AELLD EVERYONE!

We're gomng to skap cross-cultural pragmatics aned disc
1t oon your own, s mieresting nformation. But | jyq
relevant to our own culture,

n'l"-“._,

¥on
'-'!hn't "_“ h‘:"

Coonvercatlional ||n|;'|]ir..1l‘rrrri and Dice Olires

¥y
nk Ifq,-“
What docs “implicature' mcan? It comes from the Word *
which means when I'm putting meaning in the words thay I'm “:‘P'nw
is my intention. 2. This
Student: Hidden meaning. )
Instructor: Kind of, Yes. This is the meaning that [ pyt in MY Speecy [
may be hidden. It may be indirect. For example, "Why, are you, I .
today?" here I'm imphicating an invitation. So, I'm putting the M:;‘:
the utterance. e
’ Wmmmmhﬁm.m,ﬁ;;
w:mmmmmm:uﬁu.m
Lﬂ*hmﬁdﬂnm principle and its maxims . ;
'Inference’ is what you understand from something. It's the intendeq
meaning whether it's direct or indirect. We, as speakers, use implicature
lo express meanings. "
example; if | say;“There'snothing om-at the moviesi do not mean
‘nothing at all’, but rather ‘nothing that I'm interested in seeing’. o |
~ I'm pot saying here that there is no cinema, an‘:'i the cinema is not
playing anything. My implicature is that there is nothing that I'm
interested 1n seeing. -
[ The person | am speaking to will assume this and "implicate’ my meaning.
Here, they -also. give -us- the- difference: between. implicature and
inference.
implicature is_not the same, however, as inference. Ar implicature s
Mhtuﬁmdlybyﬂumwmy(?r may MQH“MM_
by the hearer’. An-inference; on the other hand, is-produced W"“.
the basis of certain evidence and may not, in fact, be the same

AYDIO 2025 T2
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lmp'“'ﬂ'""‘ 16 the mtended meanmg from the gpeaker When | i hicate
coymethmg. thic 16 the meanmg that I'm mrtendimg m my ipeerh  Flosv e op

inference 16 10 the hearer So. what the hearer mfers and imderdands from
the meaning That's why ae have thie gap hetween mpheaturs  andd
nference

Thi‘\ el we that we <honild fl-rnn m the matnim=s. n the cnnperative
Pﬂmqplf_ on the fehoty conditions. and on evervihing that we talked
abotnt before in onder 1o calculate the implicature

A maxim can be followed in a streightforward way snd the hearsr
mmmunmm

They give us an example of a person orderning a heer

F eo.
| A: What'd you like?
| B:A beer thanks.

Here, the speaker and the hearer follow all of the maxims They follow
the maxim of quantity becausc he replied with just what 1s needed He
followed the maxim of relation. of manner, and of quality.

Here, no implicature is generated that is necessary for the interpretation
of the utterance.

If we said that the implicature is the intended meaning that I'm putting
in my speech, and if we said that the inference is what the hearer
understands from my speech. here we don't have implicature because it
foltows all ef the maxims: So, the-intended meaning is very direct, and the
hearer would understand that very clearly. So, that's why we said that no
implicature is generated. We don't need implicature to understand what is
said because it's very clear.

¢ eg. '

A: What time did your flight get in this moming?

~{ ik Seven{when it actually arrived at 7.04 am)

Here, they violated the maxim of quantity because then it's not needed.
veg.

A: How are we getting to the airport tomorrow?

B: Well . . I'm going with Peter.

They're violating the maxim of quantity because it's simply brief, and
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it'e without any addittonal maxmm. They didny
utterance Yom would expect a reply to be by tay; |
have implicature of B, of the utterance B which MEANS thay ¢
with you, and vou need to find another way to go ol LY m"
J Mlh”hmmhm“h e g
“ﬂm—hﬂﬂlm&uh'*_m !..".
( thelr own way to the sirport. l\...-‘,.
So. imphicature is the intended meaning that | pUt i
Sometimes. no implicature is needed when we follow all the my eney
when we don't follow all the maxims, this is whep Fm Fl-n-:n“ ot
' e

y

"Chuatly

by by g0 g

Conventional and Particularized [f."f‘l".*"'f'ia'hrnm' e ol
- Plir 39

What docs the word "conventional' mcan?
Instructor: Yes. Thank you very much. Conventiona] ;4 the

And what about 'particularized'? This one depends on (he Rorm

‘Conventional' 1s what usually goes, no particular context, Of course :

may nced the cultural context. However, this is not Particular tn-[h.
situation.

| With conventional implicatures, no particular context is required in ori
o derive the implicature. in the aforementioned example, the use of ‘i
can conventionally implicate that what the speaker is about to say is noy

the-hearer is-hoping to hear. - |

So, you expect from me to say, ‘We're going together at by an’ Bu

when I say, ‘Well,’ I'm here kind of breaking your hopes. I am saying what
you don't want to hear.
' ~Similarly, the use of-‘anyway’ conventionally implicates a retum to the
original topic of a conversation.

When we're going through a long conversation, and we start 1o speak
about a lot of things, and when I say ‘anyway’, it means I want to go back
__to the original topic of the conversation. That's another example of
conventional implicature. In every conversation, it implicates the same
meaning. ;

| Whe uses of ‘but’ and ‘on the other hand’ to express contrast,

202512
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This is 10 suggest confrast.
8 m,., to suggest something is contrary to expectation, and ——
MMinguinhdiﬂmtﬂnlmtm-uﬁm“mhﬂ

conventional implicatures. R
..-—erlld conversational implicatures, however, are derived from a
context, rather than from the use of the words alone.

Here we're not using ‘well' or “anyway'. We're using a particular
<ituation i order to denve our meaning.
¢ o0

A: You're out of coffee.

8: Don't worry there’s a shop on the corner.
ffh?inplirahurc here is like we can buy more. It's not a problem. So.
here they flouted the maxim of relation by saying. you're out of coffee
And they started saying, don't worry, there’s a shop on the corner.

That is, the speaker assumes the hearer will search for the relevance of
what is said and derive an intended meaning. A derives from B's answer
that they will be able to buy coffee from the shop on the corner.

By flouting the maxim of relation, I am implicating that the hearer will
understand what I'm saying, that they will derive and infer the meaning.

[ Most implicatures, in fact, are particularized conversational implicatures.

~ Conventional implicature is much less used than particularized
implicature.

o T ey P i o i_

o Scalar Implicatures =~ "

Scalar comes from the word scale. What does it mean?
Student: Measure,

Instructor: Yes. Measuring levels as well.

Scalar implicatures are derived when a person uses a word from a set of
words that express some kind of scale of values.
+ eg. ' |

All of the students passed the exam, Well, some of the students passed
the-exam.-Actually, none-of the.students passed the exam.

In the example, they started by saying 'all’. Then, they said 'some’. And
they ended with ‘mone’. So, this is the scalar implicature that I'm talking
about. I'm talking about the scale of students and I'm just scaling down my
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imphceatire Inetead of saving ‘all the studente’ | reahzed no. it -
‘some etndente’ And then | eaid, no, ‘none of the studenye So it'e g ally,
iden, bt it's a different ecnle Wme
| mm-mnnhwhum.mmm*“
What do they mean by ‘entaile™ When | say ‘all’, ‘sopp- 1N inehurte |'
thm meaning I-Iuwm 1. ‘'mome” 1 omntade that meaning It yq p, o n

‘ g II--. B ¥ nl II1'IF|1
Sou el ymphicates 'some’ So. when | say all’, ‘some’ |4 enfa|

-F'll in ‘h'.
T‘“T‘ﬂ“'lﬂs_

M.W.Mmmﬂﬁumnhﬂﬂnmﬂh
scale.

We're mlking about what 1s included in the each one And which om
that 1« not included at all goes at the bottom of the scale SO, tame dﬁ;
not entail all. Notice that there is no direct relation hetween them. S, |,
gocs 'one way, it doesn't actually go the other. And some does no
all But all mcans some. That's why we mean by the word SLLETI R S
means, dike. included in the meaning. Some is included in the meaning ¢
all. but some docs not entail all. "

Politeness, Face, and Discourse
Where docs the word 'face' come from? In English, we use the
~ Sxpression ‘saving face'. Basieally, it includes the meanmg of politeness
For example, you did something bad and you're apologizing. Here, you're
saving your face. It doesn't exactly mean the same thing as your face. It
_Just means politeness.

Politenessand face are important for understanding why people choose
hmﬂi@hlrrﬁmhrw!!in:pohnmm&uoum.
10 understand discourse, politeness is incredibly important.
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c. it is the example of the jacket. When | asked. ‘Daoes

eness sak : .
h You were not following the conperative principle

or po o
L.:..- il:‘-'kﬂ look good?
f{r rm[ih.‘l‘ll:ﬁﬂ. | . N
: I "”‘!""I"h we "'“I"I‘NL they are just telling us abot the history of
i have different theories and different theonsts wha argie

. We

ness. :

ywolhite | (Terent things They are following a context -hased politeness
wil ¢ : ’

ahn re not mqwq-nlmng on everything. They are following specific
They @
exam 1‘:‘;' .
involvement and Independence in Spoken
{ i

volvement means to he involved. Involvement means to
rticipate. And your mvolvement in a discourse means that people are
" ‘hpng vou. They're respecting your involvement and giving you the
respee ok i conversation or in a discourse. This means that you are

cc to spea : |
:P[:!n of the community. It's just to show that you are considered a person
this conversation. and you have the right to participate. And

at you have a right to say what you want as

and Written Discaurse

In gc'nu:rnl. in

n
= ---;ndq)('!ldrﬂﬂ here means th

well. .
The term ‘involvement’ refers to the need people have to be involved

with others and to show this involvement, that is, a person’s right and need

to be considered a normal, contributing, supporting member of society, or,

in other words, to be treated as a member of a group.

" This is your right to be involved in a conversation. This is your right to
be considered a participant of the group that speaks.

ight shew-this-involvement by-showing-ourinterest in someone, by
agreeing with them, by approving what they are doing or by using in-group
identitymarkers such as given names, or nicknames.

How do we express our involvement in discourse?

Student: By showing our interest in someone.

Instructor: Yes. By showing them that we agree with them. By calling
them their name..By showing them that.we care about what they're saying.
By showing our involvement as well in what they're saying.
| The independence part of face refers to a person’'s right not to be

dominated by others,

Dominated means controlled. So it means that you are independent,. so
I'm not telling you what to say. You have your own opinion, you have
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: 't have your own independence.
our own personality You

M-M- .
freedom to Ay what you Want 10 say withey, -~

| tor ewample. |
MM interr yr interest Even from the way ——

1) For example, | don’l lt!'ll'l;!‘ v i
' not assuming what you are you are i
like, 1 am A, .

vou have that independence 10 face.
' m asks me, what dq
L -

2)1 give you options, For cnmpﬁlc. my mo
to eat for today? Here she's giving us options.

1)1 don't imposc my opinion on other People.
hem. And when [ interrupt them, | apologize.

4)1 don't interrupt
These things arc all partof face-smd politeness. Why do we need g,
need politencss? To maintain our soey

and politencss. Why do we :
lation. That's why you need to be polite (0 other people and you peeq

other people to be polite to you. Because you need 10 maintain thy

In order to maintain social relationships, people acknowledge both of
| these ofa s face at the same time. _
Both ts of face, the involvement and independence. '

What does rapport mean? This is the friendliness that you have with
another person. When you build rapport, it means you build a friendship
or clnm. So, it's a positive thing. The way that you speak to your
sister is very different than the way you speak to a stranger. Why 1s that?
Bgcausc with your sister, you are close. You have rapport with her. Bu

_ with a stranger, you don't have rapport..So, you're not friendly with them.

Mﬁ:ﬂ;n::tﬂn:hﬁw being a threat to each other's

.-Is, . ma each
i + other's . involvement and
Mﬁgzause if I'm not polite I am basically threatening your face. And your
is you, as a person. My face here, we're using it as an example for the
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Choosing a Politeness q’“""‘""f

How do we choose a politeness strategy? We just amid that g

rapport and closeness. When you're speaking with other pe
{:'ﬂi to consider four considerations.

depends
ople, you

‘/ 1. How socially close or distant we are from our hearer,

{ would think of you and me are social equals. So, your boss is not your
oqual. Your colleague is your equal. Your friend is your equal. You would
ke into account how equal you are socially when you choose 3
polimncss_sh'atcgy.

For example, am | talking to my boss or to my employee, to a poficeman,
|h-.m.mpioy“urtu-]udgo?' |

I'm not equal to a policeman, but I'm equal to a friend. An employee is
pot equal to me. ; R
[:g__ﬁ-ﬂgﬂﬁcmtwnlwmhtnm.wtnﬂummlmhﬂ;h
For example, am | asking for change, for a loan or to borrow a car? ‘

If you're asking your friend for a pen, this is not very significant. It's not
very big. So, you wouldn't be too polite. But for example, if you're asking
for something that's a little bit bigger, if you're asking for like to borrow
someone's car, you need to be more polite.

3. How much emphasis both of us (in our culture or cultures) place on |
involvement and independence in circumstances like the one we are in. |
4. And we may consider whether both of us would have the same answers
to these questions. . ' | i
We also consider how politeness socially goes. We consider our
cultural context and what is considered polite and what is considered not
polite in our culture. So we consider what's close, being close or distant
from-a person. We also consider if we are social equals or not.
Face and Politeness Across Cultures

Generally speaking;-we -know that -Japanese people's understanding of
politeness is different.

it is important to point out that the specific nature of face and politeness
varies from society to society and from culture to culture. For example, in |
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(i Syman culinre, L l""rr““ H‘III o “:::r;"q:'h;l |[;1'.-|E‘rI f Yon'ra
adull. even if you're like 40 years 'fh : 3.rﬂ‘“:rl-'lr'u'.ﬂml'r '.u“""“ "Ny m how
vour life goes However, that s 1|rl1rrrrlm " T“,m q:‘ illrl'_‘_ Onee YW e
1K i'e fine hecanse Yol are vour i Pfl : i ;H-P aAre rpp‘“r’ll‘lg
d'ﬂ:l'rn:'m «gmbhicance on the involvemen! m,“ o Ehprn.t ence face, Mgh
How smvolved we should be n another person of how independep, they

| some cultures the ides of

are from us

lnm:ﬂnmnhﬁmhpﬁ'ﬂ"ﬁ““mhmm“h

others it is not. .
. When vou visil a person. you don't go fo their bedroom. By - somie

cultures. it's fine. In our culture. | think it's not finc. but it depends o the

clonenges. lar to our culture as well:

~Agan, this example 1s simlar L
In some cultures, refusal of an offer may be merely polite (even if 1o ,,

| English speaker a refusal may seem like refusing ifvolvément) and in othery

| the opposite may be true.

If we're in Britain or in America and I ask you, Do you want coffeer
And you say, No', T would accepl this as 'no'. Bul in our culture, when,
vou're visiting someone and they offer you coffee, you should refuse y
first. until they insist. But it's polite to say 'no' at the start. If you say "Yey
immediately, it would be considered rude.

They give us an example of Chinese politeness:

Gu sees politeness in Chinese” not so much in terms of W_
wants, but rather in terms of social norms. Face is threatened, he argues,
not when someone’s needs are not met, but when someone fails to live up ™
to social standards.

Your face may not be understood in terms of what you want or what a
person's psychological needs. For example, someone might say something
rude to you and you would feel hurt..Your psychological need here is for
them to apologize. So, your face would be saved.

However, for Chinese culture, it's not so involved with psychological
aspect, but it's more involved with the social norms. Maybe you're the
boss and the social norm is that you do not apologize to your employes.
So. here you won't apologize. So it's not based on what the other person

DA 4. 3+4 29 AYDI® 2025 12



ocial norms, on how things go in a culture.
s

is something which helps to maintain
less strategic and more a matter of socially
_ M"‘I ""Ir"".mnuph'hk"ﬂdf'milﬂw-
# o nd English, the language doesn’t change. But for lapanese
T bt erb endings change based on how formal you want to be
. h:‘; is for Korean. Because their grammar 18 different, their

same. ~ jifferent. the way that they speak to a friend has like tweo
anguage '* One of them is formal and one of them is informal. And

gifferent W‘?-;ﬂm, completely changes because they have different verh

the lang¥ They have different words that they say in a polite way or in an
end"r:p way. So, it's less strategic. It's more about what language you
ite NS,

,z,,,,.'.... 5

!*'[ﬁlcy!s_l; o us an example of gift-giﬂ]fg. How is gift-giving understood

; .on culture? . ;
in Syrian €t If you give me a gift, then you are rcally interested in what |

m;::tﬁut;nr: So. this is a positive politeness strategy. It's similar to the

English culture. _
[ in English culture, it's also considered as a positive politeness strategy by
weshow our doseness and rapport with someone else. |
And we think about how they will feel about the gift. It's not just any
random gift will do. We think about how the gift will affect them as well.
| “in Japanese culture, however. there are times when gift-giving may mean |
something quite different from this and 'be more of a social ritual rather
than a positive politeness strategy.
- _-Jt has less to do with.the person.and how close the person.is to you. But
i's more appropriate to give a gift. So, I do give a gift.
They -give us_examples . of. like “Japanese “have many gift-giving
occasions. And here it is considered impolite to give a gift, but it's less
-about the person. It's more about the culture.

| AN cutures have strategies for performing politeness, sometimes

—
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ded verbally and sometimes not.” While some of these strqe
suggest, may appear rather complicated and others might '“'“m ':’Oy
important to remember that, in cross-cultural contexts, m".“ iy
performing politeness can easily be misread. for
This is the example of hke asking if you wanted to drink SOmethin
Arabic culture and nghsh culture. So, here we misunderstoag S
because of how different the politeness strategies are,

Thy-hpnhtuutthlmpndlnﬂnfnﬂmlr-m-ﬁ:ing.bm
politeness norms and strategies.

Generalization means basically to say something in Eeneral
example, this 1s me saying that gift-giving in Japanese culture IS a
ritual. Here. 1 am generalizing. So, I'm taking what is gencral
that cvery person feels that way, cven though the Japanese People
probably also give gifts in order to show them they care about the person
I'm saying a general idca that applics to every person in society. And the
researchers here are telling-us net to do this. They're telling us that j also

depends on context. -

L‘ Norms, they point out, are just that, nmmsdoumtm_:m

‘ﬂutmahiduhyﬁnmnrmhllomﬂum'
There are many things that are polite. However, maybe me as a person
[ don't follow them.

1 ‘Mot everyone agrees-about what constitutes polite language usage’ .;|
what does not.

EHL‘h :“hEr

For
SOca|
and saying

* k% : ="

Politeness and Gender

Again, politeness differs according to your gender. Generally speaking,
we consider women to be more polite than men. Research actually shows
that they are polite in different ways. So, both men and women are polite.
However, they show this politeness in different ways. A man cannot be
polite the same way that a woman-is."And the opposite as well is correct. -
Politeness in language is complex. It's not easy to understand.

First, we have ‘the idea of community of practice. A researcher,
Holmes, reveals that: - .
~ the relationship between ‘gender, politeness and language is a complex
one and that while research shows that, overall, women are more polite
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what we mean l,y A 'h.l‘
_jt also depends on po o |
_ | eha® “":;d men are being compared and what setting or :‘:t:;

""'“; the interaction occurs,
M ""H\, "f I«.r"U"t‘t\ 1< 'h{. [‘ﬂl‘lll‘lllll‘l"}' 'Ir ‘pi‘.kfr‘ I_Irn{:“[.[: hf_-rc

5 mm -
o T::ngtmgc. So, what community they arc speaking in?
means r local conditions in which the man or woman
| that 18, the particula = -

- that they're speaking i a certain place or 1n » certam
munity o 1 a ceriam _J:uh. let's say that we are in a hospital, that i« .
ity of practice. Ih:-;.r spftnlt the same lurjgunge iN 2 cerlain
y. So. that community of practice is very different than a one 1
very different than a community of practice in a university. So,

village. ; : :
Hndﬂcmndi“g politencss differs according to all these measures that you
u .

undﬁ'f_""_lffit_l-hll' gEme——
" Mills points out that context has an important role to play in terms of
IW!@WWEMW“WW“W{‘ B |

She gives us a very fun example of the street remarks (g 4y (2hl)
She gives us different meanings of these thmg}s. If 1it's someone who's your
friend and he's telling you, you look so beautiful, you would consider it as
o compliment. But if a person is a stranger, you would consider this rude.
And a person who's saying it like a stranger would use this as to show his
involvement in a community of practice. Let's say you were passing by
and there is like lots of university students who are men. And when you
pass by, they wauld, someone would say, Hello gorgeous. By saying that
utterance, the guy is showing that he is a member of that community of
practice. If he didn't say this, it would show maybe that he's not really
involved. However, because it's normal to say street remarks, he shows his
involvement in ihal communiiy of praciice.

So, saying 'hello gorgeous' or 'hello beautiful’ is not always rude. At the
same time, it's not always polite. It depends on the context.

We need, then, to consider who is saying what, to whom, from what
position, where and for what purpose in order to come to a closer
understanding of this.

We have also another researcher who looked at what this strategy 1s
used in the parliamentary debate in the UK.

[ So. the langua

.:ﬂl"ll
{11‘“ )
communtl
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| There are
ridiculing and » the
not 30 much instances of gender specific ImPoliteness, but rather popy,

verbal behavior. worde when they're AWRiing

. <
In the 1'K. they nee A lot of “|" € bt it d y - N the
. wywe That il doesn i actag -
Parlinment And this researcher < Y have 1n 4,

with hke gender becanse in the Parliament, Yo h:—nt: men and wamen ane
hoth of them curse  So. che's saying that s not about gender pecy fie
pohiteness, but t's about a pohitic verhnl behavior

| in this case, she argues, the insults and 50 On are part of the discoypy,
mﬂ.wmwmﬂm Nglrdlmdmh

Parliament and politics 1n the Parhamen

So for a person to be good al .
O A pers or to behave in a certain way |

in UK are expected to use certain words, or 1o
doesn't matter if you're a man or woman. No, it's generally speaking abouy
pohtes. S = :
" She also found in her data that female Members of Parfiament rarely
npﬂogiu,-ﬂndingﬂntrummtertnuﬂm. more general politeness ang
puﬂarmmh_ﬂﬁmgguuﬁutm agq!gg_gemmmw
Generally speaking in politeness in our society, we say that women
apologize more than men. However, she fuuqd _that in the Parliament,
women actually rarely apoelogizes, just in the Parliament. This is to show
that it's not specific to gender. Here, it's specific to the community of
practice, not to the gender. =
It is also important to remember that a community of practice does not
exist in isolation from other cultural groups and cultural values. s
A community of practice in Damascus University doesn't exist without
the context of Syria. So, these rules that are in our culture also apply to the

community of practice.
Face-threatening Acts

This 1s when we are maybe not polite to the other person. -
Seme acts, such-as complaining, "threatens’ a person’s face. These are
called face-threatening acts. In most circumstances, a person will want to
minimize the threat of such an act. A person may, equally, employ ff"“'
saving act. For example, if your neighbour is playing very loud music, you
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1'm going to go and tell them to stop that noise right now’,
'r.vr us an example of a neighbour playing loud music, and it's the
They B! he mght. So. the man says that, 'T'm going to knock on his door

I

(1 '
middll“::l_ and tell him to tum it ofT" Ts he thinking of the effect that hig
nght “:“\11111 have on the person’s face? Not at all, actually. i partner
(hren!

wmavhe we shonld knock on their door and tell them that people are
anys, MO So. here. the partner 18 trying 1o minimize the face-threatening
¢Ifﬂ;';f enll a face-threatening act, however, she's minimizing the effect
ne
Rl
J of ; ‘may, equally, feel that their face tras been threatened and make
this clear to their audience.
© They give us an example of Hillary Clinton when she was the
of the US. 1 think in 2009, she was speaking in the Congo. A student from
the audicnee asked her, "What do you think Mr. Clinton thinks about this
issuc?’ She thought this is really rude and she considered this as a threat to

her face because she's @ woman and the student is asking of what her
husband thinks. She said:

F ‘Wait, you want me to tell you what my husband thinks? My husband is
_not the Secretary of State, | am'

secretary

Clearly. her face was threatened, but the student turned out that he said
something different from what the translator said. The translator made a

mistake. The student was asking about-Obama, but the translator said ‘Mr.
Clinton' instead of 'Mr. Obama'

Poiiteness and Cross-cultural Pragmalic Failure
This has to do with the failure of understanding politeness and cross
different cultures. Just like the example of Do you want coffee? this can
be considered cross-cultural pragmatic failure because as a Syrian

person’s understanding of politeness differs from an English person's
understanding.

For-example, in-China and-Japan it is-polite to refuse a dinner invitation
the first time it is made and impolite to accept it immediately. This refusal is
made, however;-with the expectation-that-the invitation will be made again
and then it can be accepted. English, however, does not have this
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' very
Fnﬂmumnﬁﬂ- Possiny,

If vou say INO o an | nghch lwmnn.q invitation, so it's 5 N,
Vi SRy | .
sddition, the ways in which politeness is expressed |y ,
Lwﬂmﬁm“nmmwhhh
.wwmmmmmﬂ; ‘Would you iy, ,
mhqumoﬁn.mhpMHh.h«p n
| ‘A question ﬁ‘gﬂﬂ':iﬂﬂ preference’ means SOMeONe’s asking T i
bear .
the cinema?’ is an invitation

Equally, ‘Would you like to go to po
haqlhhhnnqmﬂbnnprdlng preference, not an i"“"‘*'ﬂ.i::;:
Similarly, ‘Can you' in English is typically interpreted as , ~
< Erench it is generally asking about ability: A lack of I""ﬁ in
of expressing politmindiffermtl-ngulgﬂ and c"'“"‘“unh..:
 of cross-cultural pragmatic failure .
We finished chapter 3. The summary Is summarizing the whole "

Try reading 1t. |
o e Thank You

aylall Silosall (§silall duigo

oyl pas - sginall aulaill - Sitall &g,
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RELLO EVERYONE!

Thie chaper 1€ really fun. Tis ::l'lﬂ[“{‘f h‘.“ 1l the things that w
Ryt we'te looking st them m a different light. Haven't we heen rTnﬂw'
how discouree is going beyond the level of the sentence? Here :q ¥ ey
thing They're not looking al the grammar of the sentence They'ra |Ih' "y
the grammar of discourse because il GIVes o Wider viey, g king
theorists here Halliday and Hasan. We're not interesied the o T twy
therv're not required for the exam. These are the two main e ™

. is b fhe“ﬁ!fq -
discourse grammar, and all of this chapfer is based “.“_'h'_-"f__‘-'-’rmngq

H-hmmuunlnmdgmm.ﬂw
'mnﬁwhﬁnﬂﬂ'wﬂﬂlum..
the social context in which it occurs, that is, itemis that combine -t 1y

1ogether 1y,

' make the text cohesive and give it unity of texture.
Like linking words.
| Grammar From a Discourse Perspective s
| Some linguistic items have different patterns of use when looked st froy
'a discourse rather than a sentence perspective.  Examples of this. are itemy
' such as it, this and that. _
We usually use them to refer to things outside of language. They are
us an example of these words are also used to refer to things in the discourse
' It often signals reference to a continuing or ongoing topic in a texy,
{flﬂ-'tlnjutlolmﬂlhg inside or outside the text, as more traditional
_explanations might suggest. S e Ve
These words such as this and that do not only refer to things outside the
text as we are used to. But also signal things inside the text. _
This often indicates the raising of a. new topic or a new focus in the
current topic, S
When we are continuing our conversations, and [ would say 'this refers
' or this means something', so here I am connecting the topic ©
something else in the context of discourse. -
and that has a distancing or marginalizing function in a text, rather than
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| just demonstrative functions.

Demonstrative functions menns when we use them to refer to things

And when 1 use that in discourse, I'm here kind of distancing the dea or
'm distancmg myself,

We also look at grnmmnth:nl form in relation to where, why and how |
frequently it is used in written and spoken discourse rather than in isolated |
sentences. _

Instead of us looking at grammar on the sentence level, we're looking at
grammar on the discourse level.,

I Sentence-based perspectives —— Discourse-based perspectives

We say that 'going to' and 'will' have the exact same meaning. We use
them to talk about the future. Whether you use 'going to' or 'will', it has no
difference. However, onc of the theorists looked at using 'going to' and
'will' from a discourse perspective.

They discuss how be going to and will, when looked at from a discourse
perspective, show different functions other than just the expression of
future time. They found ‘be going to’ is typically used when English
speakers narrate future scenarios, which they then follow with a contracted
form of ‘will’, for example. They also found that the present simple is often
[used alongside “will’ to add descriptive details to the future event hemg
recounted.

She found actually that native speakers would start talking with 'l am
going to' when they are referring to the future. And later in the speech,
they would use 'l will'. So, they would start their speech with I am going
_to and then they would continue it with I will.

A discourse-based grammar makes a strong connection between form,

function and context and aims to place appropriateness and use at the
centre of its descriptions. |

Here we are looking at the connections between form, functions, and
context. And we're seeing how it 1s used to understand language.

A discourse-based grammar acknowledges language choice, promotes
- | awareness- of interpersonal factors in grammatical choice and can provide
insights into areas of grammar that, previously, lacked a satisfactory
explanation. )

For example, by using going to and will, it doesn't have a satisfactory
explanation. So, a discourse-based grammar will help us understand tenses and
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how to use grammar on a discourse level which

! : Perhapg
explanation. So, we use the discourse grammar from dmapa Offer,
g SCourg
analyze the texture ol a fexl. Urse pep @ h“‘er
. x R Petspy,,
The Texture of a Text L ey

—

A key feature of a text is its texture; that is, how
hmﬂhmﬁmm-lmnnumhﬂh %
items in the text. thl

It's the rp]nliunsl“i‘! between words in the text. How this ¢ "h
How the text is hold together. How we use the patterng Lnrej.{ s :.'Irumur
patterns of speech. All of these we call the texture of 5 text *Chtonce Or :!|:l

We have two types of unily: unity of structure an( uﬁll )

« Unity of structure T of textyp,
It refers to patterns which combine together to Create ng _

structure , focus and flow in a text, including the schemat;
text. — 1€ Structure of g
It's how we use grammar to create kind of a cohesive =,
looking at the patterns that we use in order to create that {:Dhegi.v
—~As Jones-explains; atanguage speaker’s ‘ability to discriminate |
random string of sentences and one forming a discourse is ¢ i

And We're
€ lext,

ue
inherent texture in the language and to [their] awareness of it’ t“_ the,

For us to understand just any words, we always refer to thjs j ___.;If!
unity of texture.

Urityufterhurefeumﬂumyinwhidlrmummthupa;?
cohesion create both cohesive and coherent texts. -

Patterns of cohesion is, for example, linking words.
Texture results where there are language items that tie meanings
together in the text as well as tie meanings in the text to memchlmnhnt!
We said that unity of texture means: unity has to do with the cohesion
of a text. and texture comes from how these words connected in the
discourse and how those words are connected to the outside of discourse. _

An example of this is where the meaning of items that refer outside of
the text, such as ‘it’ and ‘that’, can be derived from the social cﬂﬂhﬂh‘
which the text is located. . )

~— Texture. then, is a resuit of the interaction between language features it

- - TSR T
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Custormer: Just a little on the meat thanks.

The speakers here are wsing their knowledge of the context tn understand
what re lers< 1o In thys spec e e t1mr|r s rrfr-rrlng tey A SAlCo

Mmmmacm

| This is important as it shows us how words in a text are related to sach
 other and how we draw on this knowledge as we both read and write texts.

Cohesion refers to the relationship between items in a text such as words,
phrases and clauses and other items such as pronouns, nouns and
: .
Examples: reference items, lexical cohesion, collocation, conjunctions,
linking words, synonyms, antonyms.
All of these are part of how we understand the text. N
Cohesion also considers semantic relationships between clauses and the

ways this is expressed through the use of conjunctions.
» Reference

~—Reference refers to where the identity of an item can be retrieved from
either within or outside the text. The main reference patterns are anaphoric,
— | cataphoric, exophoric and homophoric reference.

Anaphoric reference is where a word or phrase refers back to another

word or phrase used earlier in a text. In the following example, from a
review of the book He's Just Not That Into You: The No-excuses Truth to

Understanding Guys, examples of anaphoric reference are shown in italics in
the text.
¢ eq.
| It _seems everyone’s read. that self-help book: Greg Behrendt and Liz
Tuccillo’s He's Just Not That Into You . . ., First in the US, then all over the
world, women became converts to the book’s tough-love message. When it
was published late last year, Oprah sang its praises, tearful women called it
‘the Bible’, and others declared it had changed their lives forever.
The writer of the book took a review about a book. and all of these
references written in italics are called anaphoric references because they
are all referring to the book which i1s mentioned.

| Once the title of the book has been mentioned, the author assumes that
DA 4, 5+6 b AYDIO 2025712




nmﬂu&nmmmnnmhh

,mnhhmm.hmmm“h::

book' she i referring to when she says, ‘the book's : el
imﬂhﬂmﬂh“mhh“m'::q‘.:ﬂ
The writer of thie text wall assume that once yony Mention i
the book. and vour Ister references using rhe, 41, s, the the Mime of
assnmes that even if you don't know what i refers 1o, YOO Wity hery
and read the text 10 know the reference ouid gy, -,
So. an anaphoric reference 1s when we mention the thing firs -
. t

we use references fo il =
| ) Cataphoric reference:
Thix 1= the kind of the opposite.
| <Mt describes an item which refers forward te another- word o
which is used later in the text: Phrase
*en
I'“mimlﬁnmm&qm-‘
Tuccillo's Me's Just Not That Into You. e
Here, that in mtalics is referring to the name of t}mw
mentioned later. — i iy
‘ hﬁmﬂnmduhmﬁiﬂmhﬁﬁwhudhiﬁ.{hi
| the text and reads forward to find the meaning of "that’.
So. the anaphoric reference came after the name of the book. And the
cataphoric reference came before the reference.

3) Exophoric reference:
! Exophoric reference looks outside the text to the situation in which the
| text occurs for the identity of the item being referred to.

These are the ones that refer to something outside the text. From exo-,
we know that it comes from outside. They give us an example of a
conversation that's happening between a customer and a sales assistant

talking about a book:

¢ eg

- Customer: What kind of book would you say this is?
Iﬁ“*ﬂl...lmﬂdﬂl&nwmﬁ

got some of her earlier life in it. _ - R TR

We have 'you' and 'this' as references. All of these references are

2512
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referrmg to something outside the text

* vou' referring to von

¢ 'this’ referring to the book

* ‘her'is a reference to the writer of the book
They refer to something outside the text

4) Homophoric reference:

Homophoric reference is where the identity of the item can be retrieved
by reference to cultural knowledge, in general, rather than the specific

context of the text.

* eg.
- First in the US, then all over the world, women became converts to the

book’s tough-love message.
The use of ‘the’ in ‘in the US’ and ‘all over the world’ is different from the

| final use of ‘the’ in ‘the book's tough-love message'.
Here. the U.S'. and 'the world' are a homophoric references because
they refer to something that is general knowledge or a cultural knowledge.
To answer ‘which book’, we know it is the one being discussed in the text.
We know, however, from our cultural knowledge ‘which’ United States and
‘which” world are being referred to in the text.
_ Because there's only one US and only one world.

5) Comparative reference:

‘the identity of the presumed item is retrieved not because it has already
been-mentioned-or will be mentioned in-the text, but because-an item with
which it is being compared has been mentioned'.

¢ eqg.
- When it was published late last year, Oprah sang its praises, tearful

women called it ‘the Bible’, and others declared it had changed their lives
forever. |
"~ ‘others" here is a’ comparative ‘reference because ‘it is used here to be
compared to the other things. So, 'others' here is compared to women.

The book assumes all men are confident, or that if they really like a girl,
'_ﬂ!e_ﬂ'ﬂrm: their shyness, The opposite is true. e

Here again, we're using 'opposite' to refer to an item that has been
mentioned. So, we're using the opposite or the comparative to refer to an
itemn that has already been mentioned. _ ]

EiLEnﬂammfmnm - _ ____

AYDI© 2025 T2
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infere! ”‘M

o ' W.ﬁlﬂli laugh. 'I'm |

'.:Mllﬂ-'""'-’,-dml : . Wnﬂi‘-‘ ' m"""'dl
: ot e m:mm!n#_@ﬂ'r.m-ﬂ'?miwu-mi
The author Pf = "-'L-'q that we “will indirectly wha 'those blokes' refery ,
h1'111.*l1E ::::; :'L: f:m:‘mL '‘Blokes' means MER in slang. ﬁ

the New York Times, and ‘brilliany b’.hl

e e a ];[;ric_mfé};:ncc_hecﬂm;‘ne we know that there
Thf ﬁrsi H}e 1sa hﬂm“]‘ And I.he Hfﬂ-fhf"gfuﬂ Ijﬂ.\‘f iﬁ lhE Shtie lde;-

only one New York Times.

¥ T AW 1 f t
We know uha:treers.: _ = .
' : .of -the. finest essayists of fig

to the writer, Al—exandc;_ And 'he’ and 'his
writer. These are considered anaphoric

We know that 'his' is referring
place’ are also referring to the

—

references.

¢ eg.(2 o Bl e ot ;o=
Ummmw and wry, How to Write an
.about how we create ourselves iny

fife and in art, and Mshﬂ-“mm-mm under attack. -
and 'our are exophoric references because it's refernng to

something outside the text. And we know from the situation, we know
from the context of the text is that it's referring to us (readers). So. all of
these references contribute to the making of the texture of the text. _
» Lexical Cohesion |
Lexical cohesion refers to relationships in meaning between lexical items

in a text and, in particular, content words-and the relationship between the
words. Examples of this are when different words are used to refer to the
same thing (such as ‘cinema’ and ‘movie-theatre’) and when certain words’
go together such as ‘fresh fruit". g il
T AYDIO2025T2

Here, 'we'
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The main kinds of lexical cohesion are repetition, synonymy, antonymy,
hyponymy, meronomy and collocation. These are each discussed in the
sections which follow.

a. Repetition
Repetition refers to words that are repeated in a text. This includes words
which are inflected for tente or number and words which are derived from

| particular items

Repetition is not for pronouns. It's for words that are repeated in a text

but in a different way -
such as ‘Stuart’ and ‘Stu’ in the following example.
¢ eq
Jen Abydeera, 27, and Stuart Gilby, 22 . . . are convinced they wouldn't be
a couple if Jen had done things the [He's Just Not That inte You] way when
they first met. "Stu was quiet and shy, while | was more confident and
forward,” says Jen. ‘He was more reluctant than | was to ask questions or to
initiate a date. | would be the one to say to him: "When do you want to go

out, then?™’

So. Smeart and Stu mean the same person. However. they are slightly
different. This is what we call repetition.

b. Synonymy
Synonymy refers to words which are similar in meaning such as ‘date’ and

‘go out’ in the above example and ‘blokes’ and ‘men’ in the following

¢ eg.
I'm just not one of those blokes that finds approaching women easy. The

book assumes all men are confident, or that if they really like a girl, they'll

overcome their shyness. The opposite is true.

— - ~between these words is synonvmy.

'men' and 'blocks' are referring to the same thing. The relationship

+towards dodgy men.-'Only meal playersdo full-on charm,’ he says. ‘The rest

c. Antonymy
Antonymy describes opposite or contrastive meanings such as ‘shy’ and
‘forward’ in the earlier text and ‘women’ and ‘men’, ‘real players’ and

‘boofheads’ in the following text:

¢ eg.
Andy Stern, 28, a builder, says he’s worried the book will drive women

of us are boofheads. We often do nothing at all, and just hope girls notice

DA 4.5+6 9 AYDI® 202512




| that we like them.’
We know as we read the text which meanings contyag ..
 Part of their meaning, indeed, derives from this contragy " oy,
- d. Hyponymy -
" Halliday (1990) describes two kinds of lexical ta -
| occur in texts: superordination and composition. These ays €3 that %‘W
in 8 ‘kind of relationship with each other {superurdlnltinn}:r:' “hich e
are in a ‘whole-part’ relationship with each other (composiy; on) WOTds gy
In the previous texts, Jen and Stuart are ‘part of the lexjcy) How -
whereas Me's Just Not That Into You is a 'kind of self-hei » “Ouply
‘relationship between ‘Jen’ and ‘couple’ P book.
- lor the first example, we have Jen and Stuart, 5
word couple. So, here we have a rclationship of a composj
il's a whele-part relation: we know that couple is composed
Stuart.
— And when they say, it's a 'kind of self-help book.
superordination because we know that He's Just Not That [y, You
kind of a sclf-help book. e

- Hyponymy, then, refers to classes of lexical items where the relationsi,
' between them is one of ‘general-specific’ and ‘an example of’ or in 3 .
to member’-type relationship.

He's Just Not That Into You

/ I'm Okay, You're Okay
Self-help books

—¥You Can Let Go Now: It's Okay to Be Who You Are

\\
Ready or Not, Here Life Comes

“ Be Honest: You're Not That Into Him Either ]

The relationship between these lexical items is that they are :»r:[tlhlp

books. So, this is the superordination. And meronymy is when IS
composed.

we h-".l"-'r: the
tion becays,
from Jep and

s

| Further example of hyponymy: . e B

2025712
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v spring wheat

» wheat
field grown crops » COM

“sorghum
e. Meronymy
Meronymy is where lexical items are in a ‘'whole to part’ relationship with
each other, such as the relationship between 'Jen’' and 'Stuart’ in relation to
the item ‘couple’. "Jen' and 'Stuart’ are co-meronyms of the superordinate
item ‘couple’.
couple

Further example of meronymy:

kernel silkk  pollen

L

pollen tube

In each kind of relationship, an understanding of one item in the |

- |taxonomy may depend on an-understanding of other items and on the
organization and relationship between the items in the taxonomy. These
~—taxononties —~‘can— become—very —-complicated; - -with—many -layers of -
— Torganisation built into them'. There is also the problem that these
relationships are usually not made explicit with the result that, if someone |
does not alresady know the relationship between the items, they are left to |
work it out from the text. T '.

3

If we look at this the other example at the next page:

| e R g w.ﬂlﬂnﬂﬁn&
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agricultural ecosystems jcherry
\ , grape
' \ _apricot
i I'l, R 1 é
SOZ \ CFEPS "
N apple , tomatg
v ‘
rainwates " . /

J herbaceous species > copn
atmospheric ,
pollution i Camellia Virginia ' flowers

g i
forest species > pepperweed  dry pollen stigma

H‘"\-

" .
Carolina stigmatic surface o
geranium "€ Pollen tup,
evening

primrose

hardwood

white spruce

Notice how complex they are. And if you don't MDW
-these you weuld not know the relationship -between them. Thar's why tb:y
say it can get really complex and it depends on your knowledge.

—The following extract from the opening essay in Ahnnie_r_q;“
(2018b) book provides further examples of lexical cohesion wl-;id[d.p,,d.
on the reader understanding relations between lexical items in order tg

| understand the text.

The following example contains all items of lexical cohesion:
(- =T | |
- | spent the summer | turmed fifteen on an -exchange program in Tuxtla
Gutiérrez, the capital of the state of Chiapas, in Mexico, some three hundred
~-#niles-north-of the-Guatemalan border—My host family was. named Gutiémez,
u‘ull mukedﬂmnlfﬂntumtnukhm-fmmﬂ\eirfwm-hdil?
dﬂ,meymmﬂrm:lighﬂy.ﬂmughthnymamundm
family. The father, Fernando, had been a stevedore, of the kind who worked
| for-him now, and the mother, Cela, (pronounced Che-la), was a dance teacher.
They lived like people who felt lucky to be alive. and | loved them right away.

We. have examples of repetition: " ‘ -

LB { fi.rﬂﬂ Gutiérrez: the name of the town is repeated slightly difterent

First, they gave us a long name, and then a smaller name.

_
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=~ |'wasting yoor time = butif a man's shy therg's noway it'll hppen unless you'

* family

Another example 1s synonymy

® The rown and name are synonymons for the name of town

» Vather and Fernando refer to the same person

* morher and Cela also refer to the same person

_ There are, however, numerous examples of meronomy in the text. For
example, ‘forebears’, ‘father’, ‘'mother’ and ‘people’ are in a part-whole
relationship with ‘family’, and ‘Tuxtla Gutiérrez’, ‘Chiapas’ and ‘Mexico’ are
in part-whole relationships with each other.

The famuly 1s composed of all of these lexical items. So. we have a

relationship with meronymy.

There is also an example of hyponymy in the text where ‘stevedore’ and
‘dance teacher’ are both members of the class of ‘occupations’ - although
| the actual item ‘occupation’ does not occur in the text.

" Here they mentioned their job titles. So the 'dance teacher’ or 'stevedore’
are examples of hyponymy because they are an example of occupation,
even though the word occupation is not mentioned in the text.

» Collocation

-~ Collocation describes associations between vocabulary items which have
atendency to co-occur, such as combinations of adjectives and nouns, as in
‘real-estate agent’, the ‘right direction’ and "Aussie men’ in the following
example. Collocation includes the relationship between verbs and nouns
soch as ‘love’ and 'book’ and ‘waste’ and ‘time’ also in the following
example:

¢ eg.(1)
Sarah Hughes, 21, a real-estate agent, agrees that Aussie men need more

help than most when it comes to romance. ‘They're useless! They need a
good push in the right direction. | loved the book and its message about not

do the asking.”

'Aussie' comes from Australia. So, 'Aussic men' means 'Australian

z - — — e pe—
v eg.(2)
Alexander Chee is one of the best living writers of today. If he's not
e .F FL H

mmma ‘Buzzfeed's—Isaac Fitzgerald, on NBC's |
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nominal elements
| the previous example. —
D iaks soua 8 S _ " with a participant (e.g. ask/guy) or
' link an action a OF an eyens.
m“:::-:u& dating/sites) as in the following examples. —
composite nominal group that they form {"g"wdm'ﬁfllﬁlﬂ‘
| online/ dating): i z — =
Expectancy comes from the verb ‘to expect'. So, we have a predictpje
relationship between either a verb and a noun; so it becomes nominal
elements with verbal elements.
¢ eg.(1) -
Art classes - r
| You can do just about anything in the name of art. Try asking-a cute guy
to sit as your model, and if he still doesn’t take the hint, you can literally
draw him a picture. Take a free life-drawing class at the ArtHouse Hotel. -
Art classes geography is an expectancy relation because it's not a
~single- collecation.- We-have-history-classes-and geography- elasses; for-—— -
example. We are expecting what comes afier classes. ==

——

¢eg.(2)
Online dating |
Hand out as many kisses as you like —virtual ones,.that is. Dating sitesare

So, collocations is when words tend to ce-occur, and expectancy
relations is when there's a predictable relationship between lexical items.
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| » Conjunction

These are Iinking words. We are going to understand them in terms of
additive. comparative, temporal, and consequential.

a. Additive conjunctions include 'and’, ‘or’, ‘moreover’, 'in addition’ and

‘alternatively’. That is, they draw on the notion of ‘addition’ in both a
positive and a contrastive sense.

b. Comparative conjunctions include ‘'whereas’, ‘but’, ‘on the other hand’,
likewise’ and ‘equally’, drawing on the notion of comparison in both a
positive and a negative sense.

c. Temporal conjunctions include items such as ‘while’, ‘when
‘meanwhile’, then', ‘finally’ and "at the same time’.

This has to do with time.

., ‘after’,

d. Consequential conjunctions include items such as 'so that', ‘because’

{"since’, ‘thus’, 5if’, ‘therefore’, ‘in conclusion’ and ‘in this way’.
This has to do with result.

* eg.
When it was published late last year, Oprah sang its praises, tearful
women .called it ‘the Bible’, and others declared it had changed their lives
forever. But now the initial fuss has subsided, women are examining the
~ - rbook's'philosophy a little more closely - and many don't like what they see.
‘When a guy is really into you’ says Behrendt . . . ‘he lets you know it. He
Is, he shows up, he wants to meet your friends. Why would you think we
{would be as incapable as something as simple as picking up the phone and
asking you out?’ Because, of course, the dating game is a clumsy dance of

blunders and misunderstandings. And sometimes, romantically challenged
mean really do need a helping hand from women.
» Substitution and Ellipsis

A further way in which texture is achieved in a text is thrnugh the use of
=~ substitution.and ellipsis. - :

To substitute 1s to replace mmelhmg with samethmg else. Ellipsis 1s to
omit.

5 i —

With substitution, a substitute form is used for another language item,

phrase or group. It can involve substituting an item for a noun. In the
following enmple ‘one’ sul:lstitutes fnr the noun Imok'
“eg.(1)
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ten@
:::ﬂ:nMTM'lmHhhm_

nining had dinncr

‘done 1E anheh
. In the M "y
W a clause. 'n |
may aleo for ] ‘ 1

Whhdm'rw'n
<

rﬂ-‘a‘;'ﬁwhwm‘utﬂ“ happy.
B: Oh yes very much so. .
'wp' 18 subsiduling '}'t‘*“_'l‘l’_"i_'” llﬂm - s
Substitution is much more common in !Pﬂmd'ﬂ‘mthnﬂi“
written discourse.
z. !‘I : = -

With ellipsis some essential element is omitted from the text and can be
.mﬂlhyuferringtnnpucedingelemt mtlntt:tmm
involve the omission of a noun or noun group, a verb or verbal group, or a
clause.
+eg
. Announcer: Gary, what did you want to say to Allison tonight?

Caller: [| want to say] that I'm very sorry for the fight we had the other
' might.

Announcer: What was that over?

Caller: [It was over] something rather silly actually

Announcer: They usually are, aren’t they?

= ¥eah-{they usuaily-are silty}-and {t want to say] that {-love her very
much and [I want to say that] we'll have to stick it through, you know?

We have a phone call here. Both speakers used ellipsis, but we understand what
_they mean. What is written between two brackets |[] is elliptic.

' Ellipsis is a common feature of book endorsements such as the following
- which appear on the back cover of Alexander Chee's book:
v eq

- {Alexander Chee’s book is | Urgent and insightful - Viet Thanh Nguyen
Guardian Summer Reads _
DA 4. 5+6 16 AYDI® 2025 12




[Mexander Chee's book] Pulses with urgency . . . (Alexander] Chee has
W-MHMMHW a wise and
MWNII&MMMdﬂIﬂWd
America - - New York Times Book Review. .

[Alexander Chee's book is | A knowing and luminous self-portrait” - 0,
”MMM

[These are] Heartfelt, writerly essays . . . powerful [essays] - Alex Preston,

- 11;?.-—1:!-1: buy a book, you always have these things that describe 1it. And
they usually omit the name of the book or the name of the author.
= it

| A reference can reach a long way back in the text, whereas ellipsis and
substitution are largely limited to the immediately preceding clause.
.| Another key difference is that with reference there is a typical meaning of
co-reference. That is, both items typically refer to the same thing.
" With reference, we have two items that refer to the same thing.

\\Fiﬂ'nelllpﬂllndmbshtuhnn,thu is not the case. ﬂnraualumm
difference between the second instance and the first.

“With the first example of substitution, we're using substitution with 2

- slightly different meaning.
Ifnspaakerurnwritﬂmnhtnreiertnﬂwmthing.thqm
reference. If they want to refer to something different, they use ellipsis-

limited to lhc lmmedlareiy prr:cedmg
| clause .
when a speaker or a writer wants to | when they want to refer to something
refer to the same thing l different
- - | hoth-items refer to the same thing - - | There-is some -difference. between the |
- P second instance and the first.
-

reach 2 long way back in the text

Next time, we'll look at patterns of cohesion. For the exam, it'll not be difficult.
but there will some speualued questions written for those who attend and study.

L i e . - ThankYou -
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HELLD EVERYONE!

We covered the chapters | and ¥ We're «till in €h 6 And wa still
Chaprer | s really ot an introduction. so 1 would net consider it

3% 2 chaptey
We have an example and we need to analyze it together

~ Patterns of cohesion: A sample analysis

| MMmﬂuﬂﬂlmﬂuuﬂmmm%
Mﬁumﬁmhuﬂpﬂinmdhﬂ:ﬂmm 3.
MThmﬂmwhmwhwkmmh“
relstions between lexical items in the text, what is being o

m:hnluimmﬂwhﬂulvﬂmﬂoﬂh-wmhm,wm

¢ el
$: Mi. Can | help you?
C: Can | get a grande frappe with vanilla?
S: Did you want that blended or on the rocks?
—~ C: Blended, | guess.
S: 2% or skimmed?
"~ €:Uhm 2% E B
$: 2% OK. Any whipped cream?
C: Sorry? _ _ -
S: Did you want whipped cream on that? B
C: Yes.
S: Anything else?
C: No, that's it
S: Salesperson
G Customer |

We have a cunversalmn between a salespcrson and a custume: What
are the lexical chains in this conversation?

[ The first is the subject of the text: coffee. In this case, a grand frappe is a
“kind of coffee and, thus, is an example of hyponymy.

We. have the hyponymy selation which is a kind-of relationship. p. We
have the types of coffee which is one type (grand frappe with vanilla).
-~ Fheintersiting thing here is-that the lead item-in-the chain, coffee, is not
actually mentioned but both speakers are aware that this is what they are
DA 4. 5+6
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They dnni mention coffee, but we know from the context that they're
l]\“"E- about collee

The items in the second chain are ‘kinds of' milk and so are also instances

of hyponymy. Again, both speakers are aware that they are talking about
“ﬂ“ﬂpmnu-dlﬂmenﬂnnit

we also have a relation of another hyponymy which is the kind of milk
(2% o1 skimmed™)

The kinds of milk in the second chain are also instances of meronymy in
that they are in a ‘'whole-part’ relationship with items in the first chain,
coffee.

And we also have a relation of meronymy which 1s talking about

whole-part’ connecting the lexical items together. So, coffee 1s made of
coffee. vamilla, milk, and cream.

Lexical Chains
, . Figure 6.6 |
‘ |coffee] 2% blended whipped cream
hyponymy |  hyponymy repetition | repetition
grande frappe skimmed blended whipped cream

The reference items / and you work in the text because both speakers
know who is being referred to.in the use of these items. In the first example
in Figure 6.7, | and you are examples of exophoric reference.

We have an exophoric reference. When I'm saying [, I'm referring to
something that's outside of the conversation which is me in the situation.

~ —After this,7-and- you—become- examples-of -anaphoric reference as who
- tthey are can-be derived from looking backwards in the text.

The next references for 7 would be considered anaphoric references.
The first one is called an exophoric references of "Can [ help you?", and
the next one "Can 7 get a grand frappe..?" is an anaphoric reference

- because it's already been mentioned.

l?':-‘"--— Shic . - Examples of Reference
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Can I [exophoric reference] help you [exophoric reference)

Can | fanaphoric reference] get a grande frappe with vaniis?
Did you fanaphoric reference] want that [anaphoric reference] b‘&ndgd
on the rocks? or
Blended, I fanaphoric reference] guess. e |

-Did you fanaphoric reference] want whip cream on-thae |
1
"""Nun.l

reference)’

And also we have a lot of cllipses in this example |

Figure 6.8

1- [1'd like it] blended, | guess _

2- [Do you want] 2% or skimmed [milk]? |

8- [1'd like] 2% [milk]

4- Did you want whipped cream on that? Yes [I'd like whipped cream) |
_ 5-[Doyouwant] anythingelse? 9 f

Why do we do that? _ |

Student: Because it's obvious what we are talking about, No need o
repeat.

Instructor: Yes.

This use of ellipsis-makes the text both economical and sufficient for|
achieving its goal, that is, ordering a cup of coffee. |

By 'economical’, they mean you don't need to say too much. You just
-sec the things that are needed. Remember the maxims we talked-about? _
All of it is related to these.

This, together with lexical d.ﬁmmdmfmﬁngwmiumfutﬁu.u.ﬁ']
purpose of unifying the text (they depend on some of the H-ibiectmtur|
mﬁningﬁ!em}.nndofemmmyheumﬂlqmemfmmh“ingm
repeat the identity of what we are talking about again and again.

Unifying the text meéans-Kere the unity - of structure and the unity of "I
texture. If the subject changes, this would not work. But because we are
dependent on context, we are in a coffee shop and we are talking about
coffee. All of this situation, we do not need to say too much. We can be
_economical. We can shorten the things that we say.

*“. “-dnl : S = - = = ] -

These ones are important for writing. Are you familiar with topic
sentences in writing? T T T

e ——
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: What 1s a topic sentence? When you're talking about a topic
<cntence here. W usually have two parts the controlling 1dea and the
<ubject. Theme and rheme are similar to these:

M Yes.
[pstructor

» Theme 15 the subject
» Rheme is what you are going o say about it

3t this 1s for all sentences, not st fopic senfences

Two further elements that contribute to the texture of a text is the
relationship between theme and rheme in a clause and its contribution to
the focus and flow of information in a text. An understanding of this is

especially for the writing of successful student texts.

These arc really important for writing.
" Theme |
.~ Theme is the starting point of a clause, that is, what the clause is ‘about’.
~Just like the subject. 1f vou're talking about coffee. maybe you're saying
there are multiple Kinds of coffee. So. your subject is coffee and the rest of

"~ The remainder of the clause is the rheme.

<
hmmwﬁﬁ I.'n:isﬂ:n.lmhl::ﬁ:lia.lgnplnms.tlang'.lnyqrJ
\ : o ——
Theme Rheme |
" We have an example Hiragana which is the Japanese alphabet. Theme
is hiragana because it's the starting point of the sentence. And the rest of
the sentence is the rheme. B
{ In this instance, ‘Hiragana’ is a topical theme.
~ We have three types of theme:
__+ Topical
¢ Textual
¢ Interpersonal
We're going to talk about that later. Here, it's obvious that we have a
topic which is Hiragana.
Conjunctions such as ‘and’ or ‘but’ when coming at the beginning of a
clause are examples of textual theme.
With conjunctions, we're- talking about a textual theme.
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mewlmd“"”h“’“’mﬂ“ﬂdm.nﬂ|
ln‘ﬂm'.hnhwm' tart saying. '

This 1s aboul your opimion So, when you .1 art saymg, In my_"F‘"'"n.'
the 'IT‘III:‘T']'H‘I"WII‘IHi theme would be in my opimon. Here. they give US an

s L"\m‘l‘l]‘lll{,‘ 'l"! course’ which
Mslliday describes theme as ‘the element serves as the point of
} departure of the message’.

By saving theme as ‘the element which serves as the point of departire
of the ﬂ'l.f'i!-ﬂgt‘". they mean that the starting point of the sentence or why,
vou will say about ot later. -

]_ Theme also introduces ‘information prominence’ into the clause, =

By ‘mformation prommence’. they mean whalt 1s prominent in whay you

will say. . L

Theme Rheme i _

‘Genre' is a term in widespread use to indicate an approach tq
communication which emphasizes social function and purpose.

Here, we have another sentence. Our theme (the starting point of the

utterance) is 'Genre' and our rheme is the rest of the sentence.
Topical theme R '

is a term in widesp_r;ri_
'use to indicate an
approach to
communication which
emphasizes social
) | ool oon... . function and purpose. |
Significant surrounds the
debate | | definition of genre,
| | particularly the extent
to which it refers to
- texts or activities in
| | which texts are
e L 5] - - - | embedded.

’ s apie 5.3 NTu - xampies of 1 heme and Rhem
Topical theme |Textual theme
‘Genre’
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15 often vaquely
It

defined
but several uses of can be wlentified which
the term Are ilustraterd In

chifferent types nof fenra
analysis
For the first sentence mn the mhl«;.~ above, the type of theme that we have
e 1s 8 topical theme. We're talking about a topic
I“m is a term in widespread use to indicate an approach to
communication which-emphasizes social function and purpose.
In the next example, we also have @ topical theme.
ificant debate surrounds the definition of genre, particularly the
extent to which it refers to texts or activities in which texts are
embedded. D —
~This is a kind of paragraph that follows each other. And every sentence
has a theme and a rheme. For the first sentence, the theme is "Genre’
followed by a theme. Another topical theme 1s 'Significant debate’. Here.
it's also atopical theme. And we have another rheme.
_Another topical theme is 'It', and it's followed by the rheme 'is often
\-'agl.IEI}' defined.":
l:_ It is often vaguely defined.
'but’ is a textual theme because we-started with a conjunction:

 But several uses of the term can be identified which are illustrated in
different types of genre analysis.

" Here, we have two themes. We have 'but' is the start of the sentence.
It's a textual theme. And then we follow it with another theme 'Several

uses of the term'. So, here we have a full paragraph which is analyzed in
terms of theme and rheme.

Mmmmmm}m
Textual theme | Interspersonal | Topical theme Rheme
-  theme l

L

However... it seems uvﬂikelleemrtes - would deliberately

_fthat | challenge the church.
Here again we have multiple themes. We have three themes.

DA 4. 5+6
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+ Interpersonal Theme
lmﬂ“ﬁmnmmm:mmmm
ﬂwmmmmmimmmhu:‘g
position or point of view that is being taken in the clause _
I e the ﬂ‘lHl’lﬂH"hlP hetween the participants or the POy ting g
opimon Soun the above t‘t."”‘l'l[“f'. it seems hikely that n Inte e
theme 1< expressing the point of view of the speaker

Here, the interpersonal theme expresses uncertainty abou the
proposition that follows.

g”_ ”“q writer H' H“- sermlemw e 't.:"&-}ngl ;ffl'h cyer, i YEeeme Ilﬂfli',rrf-.r “"lnr

hf!"i f"‘l,"ll'ﬂ"{'iln! his
tomc Oy he's feeling
1on. about the rheme

Deveartes would delvberately challenge the chwre b,
feehings about i, and he's feeling uncertam about the
uncertain aboul what he's saying, about the proposit
ol the sentence ~ N
" An interpersonal theme can express probability (e.q. Perhaps)
usuality (e.g. sometimes), typicality (e.g. generally) or obyi (e
surely). It can also express opinion (e.g. to my mind), admission (e o
~frankly), —persuasion- (e.g. -believe me), entreaty (e.g. kindly).
presumption (e.g. no doubt), desirability (e.g. hopefully) or predictio,
(e.g. as expected)
‘> Multiple Theme |
. -That is, there is more than a single thematic element in the Theme
 component of the clause.
Remember when we said that we have multiple themes that follow each
other? Like the example above. We have multiple themes.
| | l

[ Thematic Progression e 4 .
Usually when you're writing, we start with the topic sentence. and then
we say more stuff. We said that these stuff should be related to each other,
You can't just start talking about whatever you want. You have to follow
your topic sentence. So, we can use the sentences above as an example of

a themaltic progression because what you say has to follow what you've
said before.

—

J The notions of theme and rheme are also employed in the

[nmnimﬁon -of thematic progression, .or method of development of
texts.

DA 4.5+6
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1's the WAy that vou develop your writing. or the way that yvou kind
% on what you will say later

- et :,,'nllﬁ;f“
rogression refers to the way in which the theme of a

may pick up, or repeat, a meaning from a preceding theme or
claus This Is a key way in which information flow is created in a text.

: . number of ways in which this may be done. These are discussed

in the following text.
All this has 1o do with the organization of writing. You said a
1 ~nCe. and then you pick up the theme from the previous sentence to

ernic .
-\Til-‘ another sentence. Mavbe you pick up the rheme and develop that
‘ L}

idea furthermore.
are a number of ways in which this may be done.
» ml'lt Theme
_One example of thematic progression is theme reiteration or constant
theme. - S
~ By 'constant’, 1l means that this theme does not change. So [ we're
53\'i;1.g an utterance, the theme of it does not change. You're using the
same theme and you would repeat it again.
™ n this pattern, Theme 1’ is picked up and repeated at the beginning of
| rext clause, signalling that each clause will have-something to say about the
theme.
Table 6.9: Thematic progression: Theme reiteration/constant theme
(based on Table 6.6).
Theme 1 - Rheme 1

Theme 1 - Rheme 2
e+ -~ -Fheme2 -~ Rheme 3 -~ — - e ~

Theﬁe 2 — Rheme 4

We are using the same theme but we're adding different rhemes. So.
this is an example of a constant theme because we don't change it. We
- keep it the same.

- Table 6.6: Theme Reiteration/Constant Theme

'Theme Rheme

e ————— e e e
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Text can be used for both spoken and written, ""guagg
I usually refers to a stretch, an extract ¢ .

writing or speech, Pleta Preca
‘Discourse’ is a much wider term,
I can be used to refer to langua

ge in Action Steh
discourse, which has tlmraftertslriﬂattn

| 05 f languan, '
| Text can be used for both spoken and written :..W-f-‘f"ﬂaa
o a stretch, an extract or a complete piece ofmfﬂ,,’ nrhﬁ“ﬂu,’%d
'-mmmnmhmmnfermmwh : s
} legol discourse, which has characteristic patterns .ﬁ,,,m“"‘"ﬂﬂ,

For "Text" and "I, these are both the same the

me. We h, '
theme 1 because "Text' and 'It' are the same theme, w

C
and rheme 2 because they're saying different things, S, o Fheme
_same starting point. -
Text —» can be used for both spoken and Written Pl
II!BT:_U (Rheme 1) "ages.
#—» usually refers-to a stretch, an extract or complete
(Theme 1) || writing or speech. (Rheme 2) Piece of

"DhmurseT‘Ti_isi much wider term. (Rheme3)

T ican be used to refer to language in action,

Such as legay

It discourse, which has characteristic Pattems of |, |

Miﬂhﬂm - T

We have another type of thematic progression. - —
» Linear Theme

——

Theterm ‘modality' | describes a range of grammatica resources used to
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express probability or obligation,
ally obligation is used in speech, especially when wanting to get
nerally: '

v things done such as, You should keep your room
tidy".
Eu.:.;. 4 - = -

1L LEAVALIR S .
Theme 1  Rheme 1
Theme 2 ' Rheme 2
we 100k rheme 1 and we nmqe 111 into our theme 2. And this one is
lly common i writing. A lot of writers do this.
r‘hﬂ"it-ulicnt: What do we consider 'Generally' here?
mi We said that we can have multiple themes in one sentence.

a5 ‘Generally' 1s an interpersonal theme. So. we have two types of
theme here: an interpersonal theme and a topical theme.

> Multiple/split theme

Texts may, equally, include other kinds of progression such as a

rmumple-theme' or ‘split rheme’ patterns. In ‘multiple theme’/'split rheme’

ion, a rheme may include a number of different pieces of

information, each of which may be taken up as the theme in a number of
t clauses.

The analysis of the text in Table 6.8 and the illustration of its thematic

progression in Figure 6.11 include an example of ‘multiple theme'/'split
rheme’ progression.

. Table 6.8: Theme and Rheme:A Multiple/Split Theme Pattern \
Theme | Rheme

When Japanese people write their language

They - - - vree use-a -combination _athwa-ieparate alphabets as
well as ideograms borrowed from Chinese.

are called hiragana and katakana.

The two aipﬁabeu -

The Chinese ideograms | are called Kanji.

= l_'“"@WGFBEJI‘IF:“-': TS  represents the fany-ﬁx-basic sounds that are made
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Katakana

|
represents the same Sounds 3¢ hurag
ana

-huﬂmhly!mm:hmw

languages and for sound effects ™ foreign
are used to communicate an idey |
sound i than

: a

:-‘;;:‘md ___| Custard
e sge - 2cupsmik 3
DA 4.5+6 T o ——— -
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1/2 cup sugar
g 4 eqqs

' 1 teaspoon vanilla
| Pinch of salt

——

ﬁw o four-cup mould with a smooth inside surface, or use lhtl

. Ids.
wdul' ﬂ"::““ mould: In a small saucepan, over high heat, boil 1/2 cup
3, To :-rlm tablespoons of water. When golden, pour into mould,
suga” in all directions to coat bottom and sides.
twrni™ %L In a blender, put milk, sugar, eggs, vanilla and salt. Blend for
3.

on a medium speed.
three into mould. Place the mould in a larger pan. Pour warm water

the larger pan balfway up to the sides of the mould. (In Spanish this is a

WD de Maria, Mary's bath).

BanO C oke at 325 degrees Fahrenheit (160 degrees Celsius) in a preheated
for about one hour: Check occasionally during the baking to be sure
de Maria does not ‘boil. If it should, reduce oven heat slightly;

W.'dnmt reduce below 300/150 degrees.
6. Test for.doneness by inserting a kitchen knife only. halfway into the

. . (Do not-pierce bottom.) If the knife comes -out clean, it's done. Cool

for one hour and refrigerate for three hours.
7. Unmould by running a kitchen knife around the edge. Place a serving |

dish over the mould and flip.

~ What do you think?
Student: There's repetition.
—————————

Instructor: Yes. .
« We have repetition of tcaramel’ and ‘custard’.

o Isn't. there also a “relation. here .of . meronymy? We talked about
hyponymy and meronymy. And we said that hyponymy is when you
have a kind-of relation. And meronymy is a part-whole relation. So,
for caramel and custard, this 1s a relation of meronymy to the flan.
Right? Because we're saying what the ingredients are in it.

e For 1 cup of sugar and 2 tablespoons of water, this is also another
relation of meronymy. We're talking about two parts of the whole
which is caramel.

oven
the Bano

=
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ith cups of milk. 1 cup sugar, 4 cpog | le

- thing W pe

e The same thing rt 5pac
331 <¢ arc also a part-whole o » o il
vanilla. and pinch of salt. Thesc ~ ¢ of the CUstarq

annlyzing the lexical cohesion. let's iy o, find 1
¢ sav that enp and sugar, tablespoon. and water. thee em
v yes. We said we have collocations whch dte ;rnrc
ne together. And we said that we have sniother n;:}:

that typieally coi e we
which is when expectancy relations. This occurs when ther

predictable relationshi

verb. For example:

| Pourinto mould et S )

" len't this a little bit of an expectancy rclation? Because we eap predicr

what will come with pour. -

| Blend for three minutes -
This is also an expectancy relation.

| FLAN (Caramel-coated custard) -
This is an example of repetition. Because we're using the same name.

but it's slightly different. And also when you have caramel-coated, you

“have to use Bono de Marnia. -
| Bano de Maria, Mary's bath N
These are also an example of repetition. And then we repeat it again_
We say, Bano de Maria. _
| Unmould ... over the mould i

This is a little bit like antonyms.
Let's leave this as a homework. We'll come back and analyze this next

Here we're
I‘nplrﬂ'll."l Can w
expectancy pairs

. C g ;
p between a verb and a subject or the object of Ih"l
e

lume

| » Exercise 2. Theme and rheme '

Identify the theme and rheme in each clause in the following text.

1~ A person may. have o number of -identities, each - of which is more
tmportant at different points in time. They may have an identity as a
woman, an identity as a mother, an identity as someone’s partner and an
identity as an office worker, for example. The ways in which people display
their identities include the way they use language and the way they interact’
with-people. Identities are not natural. however. -They are censtructed, in
Iarye.part, through the use of discourse. Identities, further, are not fixed and
— remain the same throughout a-person’s life. They are constantly constructed
nndmnmﬂuaednspmple&rtmduiﬂ:mhﬂhen _ |
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count them, to see how many them

Clase A .

s . el : '
what's theme 17 nd how Mmany themes e of |
student: ‘A person’

Yes. 'A person’ is the th
W'— Topical. fme 1. What YPe of e o o

- Yes, A topical theme And
rtant at different points in time,'
What's theme 27
- They.

. \'Eﬁ. -I'\“d "ll‘li‘_i‘ h.'\.‘[l- an |
as & mother, an identity as someone's part
office worker, for example.' is rheme 2. pariner and an Mentity 2 oo

What's theme 37

Studeat: The ways in which'
Instructor: Exactly. and rheme 3 is '‘people display their o
hd.d._: the way they use language and the way they interaset wirs

‘each

of
15 rheme ] which b LT

__The rest of this is like an example of a constant theme.
- ldentities"are not natura A » i
| s L, however. They are constructed, in arge par
~ So. 'Identities' and 'They' is the same theme. o
{Hiniﬁu. further, mnhtﬁ:nduidumin_ﬂn_mﬂrw-
m’siie.ﬂny:re:brﬂhnﬂycnmaedmdnmumdu#
interact with each other.
Identities’ and "They' are also a constant theme. -
~ Part of having a certain identity is that it is recognized by other peopie.
All of this is a constant theme.

Theme 'Rheme )

A person each of which is more important at different pomts
e il in time. S =

They - | may-have an identity as a woman, an identity as a

'mother, an identity as someone's partner and an
—=. — | identity as an office worker, for exampte.
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The wave in which people display the identitiac el

e tha ,
vwee language and the WaY the ay he
II ".r‘l' % .,
people I Wit
liderit it e AR 1 1 nat sl ) P T
i 5y
The are easnetruc e n |1”"-. part 4 ros
ril IF n i
discourse e .,
lidera it i *url!"l-ﬁ1 Ve ek f--‘t‘ I ¥ r Firy i i
l,h”-uulhl'ﬂ it A Rl BT lifes Ime
They are constantly constrieterd anel rar ongty
! ', Ir?“’
people interact with each othay I
Part of having a certam i< that it 15 recogmzed by ather Penpla |
dentity thius are '|Wt'I'Wr"l‘_y' constrction:
They are constantly constructed and FeCOnstryctay
Bic. )
people interact with each other
L e 2l

Nant tme. we will start with Chapter §: Conversation Analysis
discourse and conversation. And we have discourse analysis and co
anabvwis. Conversation analysis 1s contained within discourse analysis 1y, lype o
discourse analysis. but from the name, conversation analysis. it means, 1,
analyzing real-life conversations as they happen. So. conversation analysts do gy
look at the wnitten discourse. They do not look at speeches or interviews because
they would consider this as a little bit constructed discourse. They want the req|.,:.
interaction between people.

Why do they want to do discourse analysis? Because they want to know how "
conversation is ordered. For conversation analysis is a little bit different from
discourse analysis and we will see how. But it's really fun. It's really casy We're
gong 1o think of examples of like our own real life and we'll think of our language

This chapter was a lirtle bit more theoretical than pracucal. but the next oge wil!

':"_ .
.

Aversation

Il we're

be fine.
Thank You
|
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LECTURE NO. 7

25.01.2025

HELLO EVERYONE!

Chapter 5
Discourse and Conversation

aversation analysis is.a kind of branch of dine
analysis started way carlier, and conversatioy ) oy
o. from ils name, we are amming al Hnﬂl?fing :‘lﬂlth

wae bt on that S _ ? 3
discourse. With discourse analysis, we said that il's written 7 5 en

discourse, but for conversation analysis we're only focusing o "ok
discourse and spoken conversation. Poken
| of discourse is ¢
| A major area of study in the analysis onversation |
’WMI;HWMM|WMM aNalyyiy
.Mbmuhmhwmdtmhmﬂnirmd.,“ .m.

| interactions. =

B

We said that co
analveis. Discourse

We are looking at the way that people manage I?’lEiT conversations, how
thev start their conversations, how they take turns in the conversation and
how they end the conversations. Usually, our conversations follow Certain

rules, social rules.
1 nmmmMmhmnmdwm_H.I
Remember when we said context-shaped and context-shaping? This
also applies to this; your conversation or your interaction is shaped by the
context, and also the way that you continue your speaking shapes the

context as well.

Conversation analysis originated in the early 1960s at the University
California, Los Angeles. It has its origins in the: ethnomethodological
+tradition of seciology-and, in particular, the work of Garfinkel (e.g. 1967)
and Goffman (e.g. 1981).

It did not start with linguistics; that's the fun thing. We have these two
guys (Garfinkel & Goffman) and they were sociologists. So, they were
not linguists, but sociologists. And Garfinkel actually has something that's

called breaching experiments. You can look at it on YouTube, theyTe
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actually pretty fin So, what he wonld do i« he wonld design a hreaching
expenment which means that he's examining the way that people go off
the norm and how other people interact with that So. in one experiment.
onc of the experimente swomld hid cameras in a libeary. and then a studdent
came in canving with them a bag of chips. andd then they mat atarted
cating londly in a library, and they were analvzing how peaple reacted tn
that. So. what people do when someone hreaches thote social normes’

Sacks, who's the onginal guy in conversation analvas, based his
analvsis on these kind of experiments

an approach to the study of social action which sought to investigate
social order as it was produced through the practices of everyday talk.

For example. what do you think 1f you started greeting me by saying
hello. and 1 told yvou goodhye?

Student: Weird.

Instructor: Yes. We're secing how that social order s produced
through conversation,

Conversation analysts are interested, in particular, in how social worlds
are jointly constructed and recognized by speakers as they take part in
 conversational discourse.

In conversation analysis, they always use genuine interaction.

A key issue in conversation analysis is the view of ordinary conversation
as the most basic form of talk.

Whatever this ordinary conversation is, whether it's an interaction of
your neighbor saying hi or goodbye. These are all considered a basic
conversation.

Conversation is the main way in which people come together, exchange
information, negotiate and maintain social relations.

A further key feature of conversation analysis is the pnrnaqv of the data

as the source of information.
Our analysis comes from our data.
Analyses, thus, do not incorporate speakers’ reflections on their
interactions, field notes or interviews as ways of gathering information
‘about the discourse.

For example, if they re rewrdmg this lectun: right now and some badw.
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wanted to do a conversation analysis on this particular co

wouldn't interview you after the conversation happeneq T‘-‘{ﬂatiun‘ th

find out what you think about it or they would not gnt: klrﬂd of try |

from me personally or from you personally. What they hn}' Iformgy: °

data in the conversation, which is the recording, Whi:l:rcim Just g
S Jus

interaction between you and me and nothing clse. St fhe
Conversation analysis, thus, focuses on the analysis of e
argumentation and explanation, rather than consideration of text for ity |
or other factors that might be involved in the production ang i ®%ical
Psychological reasons or anything behind that disu;u_r;e whic_l;r'“'“
48 |

of the discourse.

do with the psychology of the person, we're not interested in jj W,

interested in the conversation and what they're saying, * TVETe jugy
One of the aims of conversation analysis is to avoid starting ..

Wmam“bﬁulmlnm.mmﬂmm‘

| data.. Conversation. analysts, .rather, look.for phenomena which
occur in the data and then make tiart the point of farther imvestices. ™
|

.~ When we hear a-conversation and- we're-transcribing it, we dop'

our analysis with an assumption. We don't start with a theory 5{:-“
- transcribe the data and then we try to notice what's happening in it. So w:
start in an unbiased way. We don't have like an opinion of what we thmk
is happening and we want to prove it. No, we're just looking at the data
and seeing what the data tells us.

Conversation is seen as being ‘context-shaped’ and ‘context-renewing’ l

So, anything that is said in the conversation is a context-shaped and
anything that is said after it is going to remew or shape that context.
We're not looking outside of the conversation here.

How do we do conversation analysis?

For written discourse and spoken discourse, we analyze it by looking at
it. Conversation-analysis is the same. However, we have some sort of like
guidelines or rules to transcribe the data. So, texts are recorded, video or
audio. Sometimes recording video is really useful because sometimes you
need to include notes of people. And as you're transcribing the data, you're

also analyzing it at the same time. We'll see how and why.

T AYDI® 2025 T2
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1 |[FC B’ they seem to have the music (0.7) s(h)o lo::ud it
_2 4 | Just (0.4) BOoms through the wa::ll

3 1(0.2)

4 M ®Mmm, °

S |FC An’ whereas: (0.3) normally you'd think ° “oh god °
(§~| - vyou knowthey're having it loud tonight.” hhh ()
A . 1 Night after night it <rea:lly begins> to grate on yer

 Nerves.
[‘ _E_”__ m—— - —
(0.7) the time elapsed (by tenths of seconds) between the end of
- 'the utterance or sound and the start of the next utterance or
| ‘snund
{h)- -. . |plosiveness — the sound associated with laughing, crying,
| breathlessness, etc.
% 77 " prolomgation of the immediately prior sound
o  stressed sound
'BO  especially loud sound relative to the surrounding talk
__ |°*Mmm 2. sounds are softer than the surrounding talk, even whispered
() 'a brief interval (about a tenth of a second) within or
' between utterances
-hhh ‘an inbreath - the more hs, the longer the inbreath. The .
 preceding the hhh indicates it is inaudible
Ed 'shift onto especially high pitch

"'““Y" 'bracketed material is slowed down compared to the
T;*-*' Lsu=*‘r«:.uum:lln5;| talk - - : 5 _

These symbols are used to point that here is an n increased pitch. a

_ rising tone, a pause, etc. So, while we are transcribing this conversation,
we're noticing these and we're also adding them. So, this i1s based on our
interpretation and our analysis as well. So, when we notice a phenomenon,
perhaps a rising pitch that's reoccurring, that would be maybe the starting
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point of our analysis.
This conversation is an extract from a neighborhogg i
illustrates some of these. M1 is one of the mediators gng F("‘_I"lltt ang .
of the married couple and the couple are complaining aboyt Ihlj a "
doors that the neighbor’s children are making, Noj

* (0.7) — This means there's a pause in this example, A
0.7 because we're counting it in seconds or tenths of a second

short pause, they would put it like in a dot. So, between ¢ If it
we put a period if it 1s a very short pause. However. [ il*qpa-,mmh“h

|'I1.'| WE C

bit longer, we actually do count the seconds. like 5 litt]e
* (h) — This is when you aspirate your speech.
e :: — This means when they're saying the word so loud

making it longer or they're prolonging the sound. * 50 theyp,

* o — It's a stressed sound.

e BO — Capital letters means loud sound.

* * Mmm °® — These two little circles means that it's a litt]e b softer

® (.)— This mecans a very short pause o

e .hhh — Inaudible means you can't hear it. ST

If you look at it again, you start to see how this Conversation :
happening. You start to actually hear it. But even the way that yop s
using-these symbols is & kind of subjective. So, maybe you ang |
transcribing the same conversation. Maybe the things you would nntineu:
that you would pay attention to are different from the things you wou|q
notice. That's why they're saying that we analyze them while we're

transcribing them.

in this extract, chuiuﬂuloudnssofﬂmdlildm‘:noiuby
stressing and extending the-vowel in“oud’ and-making the-first part of -
‘homrs'louderﬂ:mtheumndputufﬂumrd.ﬂunudiﬂurnihhn!
tenths of a second before simply saying, ‘'Mmm*-which is much softer-than
FC’s talk. When FC continues, she lowers her volume when she comes to ‘oh |
god’ as she reports on what she would normally think, has an inbreath
(-hhh), then shifts into especially high pitch ( T ) when she says, ‘Night after
night’ to emphasize the continual nature of the problem.

We're using these symbols to transcribe the talk and then we would
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analvze this talk. Y ou need 1o memonize these symbals for the exam

[ Sequence and Structure in Conversation

Seguence and stmetire means what comes after what 1n a conversation
and how 1t's usually structired. We're poing to study a number of things:
nl'l'i‘“"ﬂll conversations (how vou start a  conversation), closing
conversations (how vou el o conversation), tarn taking (when
wterlocutors fake am i a conversation). adjacency pairs (these are the
unterances that nsually come with each other), and repair.

» Opening conversations

We have a Schegloff who's another analyst in conversation analysis.

Schegloff amalysed a large data set of telephone openings to come up
with the following ‘canonical opening’ for American private telephone
conversations.

Let's imagine that he recorded every private telephone conversation and
then he transeribed them. And then he found the canonical opening; the
way that it's done in private conversations.

In this example, you can add the equal symbol = which means a
latched utterance. There's no break between the talk and we can see this
in the in the example:

((ring)) Summons/ answer sequence
Recipient: Hello o 5
Caller: Hilda? . . - . Identification/recognition
sequence

Recipient: Yeah
Caller: Hi, this is Carla= Greeting sequence

Recipient: =Hi Carla.

Caller How are you. How are you sequence
' Recipient: Okay:.

Caller: Good.=

Ill;dpient: =How about you.
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- .y

ning you or I am bringin
sequent I8 "'_I“ﬂ /Hello'. A gri:t:mr
- yal sign here, we're il'h:lir.:ﬂltirllg
ak between them. The speakers Hng
r. And we also have 'how are yr;;

mmo

srqliﬂ'“f‘f' mﬂh;ﬂ’ researcher 9
out by p'umgl'lllrl (198 :
versations, except that in the Australjay
Wntlyﬂ'lf'idlﬂtiﬁdiﬂ their first turn after they
than in the second turn, as in the

data

had recognired their [

. g s s e [ e

| So. e ! 3 e recognition is the second one. Then, we have 4

1d¢nt1_ﬁC3“““ ﬂﬂe and a how are you sequence and a reason for call. For
ting seguezcl they found that the identification sequence happened

the Australian d2°5 g us that there's a little bit of

__+ after. They'Te just tellin .
before and not 2 sgh they both speak English. both countries and
differences In there.

difference. Even tho

English speakers, however, they have :
In a study of telephone openings in Mandarin Chinese, Yang (1997) foud

MthmMﬁnwmcﬂhmm

and identification/ ” answer

They don't use the 'hi, how are you' sequé

interactions:

nce that's found in English

- N summons
i[ﬁ“
il:_lentlﬂ:lﬂon
recognition
th who they are.

 (¢ng) _
T Helle) e

Recipient: - -Wei? —
Caller: = Jinghong (Jinghong)
e (B ot
Here it starts with 'hello’. And the person answered wi
And then we have yes.
What's the usual sequence for an opening conversation in Syrian
And we don't have

dialect? We would start with a summon and answer.
T AYDI®2025T2
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an identification sequence unless it's a person you don’t know. [ think the
greeting sequence and the answer sequence happens together. We're
answering and greeting at the same time

Tl ok Vg L e
t lal ol g Yal .
And then we do the reason call sequence.
. .-=The dentification /recognition sequence means you wdentify yourself
and I recognize you. | identify mysell and you recognize me. The summon
is 'ring', and the answer would be "Hello', so this i1s a summon /answer
sequence. To call someone is to summon them to answer. They happen
together. Similarly, identification and recognition also happen together.
That's why we call it a sequence.
The following example from a radio call-in programme illustrates a/
| further way of opening a conversation:
Announcer: For husband Bruce of twenty-six years Carol has this
“e dedication (.) So how are things going.

Caller: - Absolu:tely wonderful.
hnnnqncer* That's great tn hear you re Stl" happy :

S

Yy g W e o

Caller: Oh yes (.5) very r_n_qch SO.
Announcer: -And what's your dedication all about for Bruce.
Caller: Well:: we're going away tomorrow to the Whitsundays (.) and

(.5) umm:: I'm looking forward to it very much and | know he
is too:: for a break.

This conversation is public. The previous example was private. This
conversation is a little bit different and yuu can read the analysis from the

bﬂ-ﬂ]L

= -ﬂis wurli:-hﬁ sincé been continued by Button (1987), who, in his
discussion of telephone closings, points out that telephone closings usually
go-ever four tums of talk,-made up of preclosing.and closing moves. The
pudumglsoftenmudeupoftwommumucommmofrtmsuchul
‘OK’ and “all right’ with falling intonation. |
How do we usually end cﬂnversalmn” They fuund out that it takes like
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four turn units to in order to close the converggy
Okay ... Love yow .. Bye-2ye. S0, I follows a very specif;, Pattere " Sayiy
Thdoﬁqhmﬂ#ﬂmhﬂhrmm.'-ﬁﬁ_m. R
'goodbye.’ Button (1987) calls this an archetype closing, bye bye
This 1s the closing. We don't know how to ¢lose COnVersar nd
this. This 1s the archetype closing because jt Sy

lon, y

I8 Hl‘ﬂ.ray.g : 'h'-?n '

: . o S it ha

charactenistics, it usually is repeated similarly every sing hag ’P‘-‘fir,n
‘ [

why he called it an archetype. le timg Thee,

’ In this closing, both speakers mutually negotiste ghe —.

conversation. end of
They both want to end it and they're ending it kindly,

[ Other material, however, in the form of an insertion |

.

e
introduced between the two units which make up these m:"" ﬁﬁ
closing finally takes place. before 1,

They would have an insertion sequence. Inseni;nhm‘*wm
inserted so it's inserted between the units of the closing gmmm;’ USually

' - 2 = ""J_l_j_‘"."“_"a_'_c"'_' &l
The closing may also be preceded by a number of Pre-sequences, such
~- the making of mmt.nﬁmngh&mw"m::"n
in the conversation, said
__I'm making arrangements like Okay, see youtomorrow,
[ the initiation of a new topic (which may not be responded to), =~

Women usually initiate new conversations even aﬂcm
We always arise a new topic. '

good wishes (such as ‘give my love to Jane’), a restatement of the reason
for calling and thanks for calling. Sometimes, however, the closing may be
foreshortened when the archetype  closing is. skipped over and a
foreshortened closing takes place.

- ~Semetimes we make this closing sequence a lot shorter. It depends. And
sometimes it's extended.

Equally, the closing may be extended by continued repetition aﬂ .
preclosing and closing items (such as ‘bye’, ‘bye’, ‘love you', ‘love you', |
‘sieep well’, ‘you too’, etc.). - b !

Pre-closing items are like making arrangements, saying good, and
DA 4. 7+8 Last ' ' 10  AYDIO2025 T2




initiating a new topic. And closing 15 like saying bye hye and goodhye
stufl. And sometimes you repeat 1ot of them

[ » Turn-taking

I'or mm-takimg. this s when vou're having a conversation with somenne
and mtcrmipting How do von know when at's yonr turn?

Conversation analysis has also examined how people take and manage
in spolen interactiens. The basic rule in. Baglish conversation is that
one person speaks at a time, after which they may nominate another

speaker,

The basic rule 1sn't just in Foghish, but also in Arabic If I'm speaking
and then Tl give you a space to speak. So, I'm nominating you
L or another speaker may take up the turn without being nominated.
) Mavbe here they're interrupting. maybe there's just no one speaking so
they speak.
.l ﬁumhﬂwwghﬂumﬂmmof:wucbcunﬂ.mumh
through the use of falling intonation, then pausing. _ !

When you want to end your turn, you usually have a falling lnmnntinn
Or vou might pause to indicate that you want the other person to speak.

w-nuyliwmd:umtmthlngnal:uchn mmm’ or ‘anyway’, and so
on, which signals the end of the turn.

You can also end the turn with saying mmm, anyways and other stuff.
So, all of these signal the end of the turn.

The end of a turn may also be signalled through eye contact, body
position and movement and voice pitch.

That's why I think an audio recording wouldn't indicate for eye contact
and body position.
" By contrast, we may hold on to a turn by niot pausing too long at the end
of an utterance and starting straight away with saying something else.

-1f you want to keep talking, you usually don't pause. You maybe do a
short pause. We call this 'hold the floor' which maybe means 'hold your
turn', so you do not allow anyone to speak or to take your place. So. you
hold the floor by keeping talking without pausing.

l We may  also hold on to a turn by pausing during an utterance rather
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| than at the end of it.
Usually. yon say what you want to say and thep you
you want to keep holding the floor, you might pause in
will not give a space for another speaker to take theiy turn. Y. ang thiy

The previous examples of conversational openings ¢ —c
ﬂa_qm_hhm_ﬁmun}p“% how "Peaker,

All of these previous examples that we looked are examp,
speakers take tums, Ples qof how

Panse. H
the Micld

Thus analyst is talking about the call-in program where the
end, keeps holding her floor. She doesn't want the conversat;
she doesn't want her turn to end until she said everything she
So, she continues holding her floor.

cﬂ“ﬂ. at

ﬂntugndm
Wantsrnhy‘

pause and the length of the pause become significant.

Especially in a lecture delivered by a professional professor.
Sometimes, they would pause at the end of the utterance, but does this
mean that someone needs to speak? No.

Lecturer: Okay, let's move on, =Tadashi: and (.) Wnng Young can you,
| L e 3
Lecturer: - The last, {._} Elgviep_,
(06)

Wong Young: What is a profession. {0.3) What distinguishes profession
from trade, (0.2)
What does it mean to be a professional? (0.4) Does being 3
pro- professional affect the way you dress (0.2) speak behave
towards others at work?
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(L)
Wong Young: Uh °|(so)|®
Lecturer: [Commjents?

The brackets means that there's an overlap between the turns. They're
speaking at the same time, so their utterances overlap. This is an example
of a university discussion. And the | lecturer says his utterance and says:

l_ _L!cm- \\Fong \'uun' can you,

He nominates her, but she doesn't speak. She doesn’t say anything
she doesn't respond. And he asks her again:

f Lecturer: The last, (.) Eleven,

I think he's probably pointing at her to something to read. Then, she

starts responding. However, she pauses again before she takes the turn
And then at the end, she starts saying;

Wong Young: Uh: ® [ (sos) ] ° =1
Then, there's an overlapped speech saying:
_ | Lecturer: [Comm]ents? e

He's asking for another answer.
~ in the example of a university tutorial discussion, the nominated speaker,
Wong Young, does not respond; so, after a one-second pause the lecturer

-asks -again. Wong Young pauses-again before he actually takes the tum,
during and at the end of the tum.

That's why we say having a pause at the end of an interaction doesn't
always mean that another speaker will take the tum. It depends on context.
He then extends the syllable in ‘uh’ and the vowel in ‘so’, when the
lecturer overlaps with ‘comments?’ as her way of insisting he provide a
| response to her question. Here the square brackets [ | indicate the point of
overlap in the utterances. The normal brackets indicate barely audible

speech, and-the symbol-o indicates speech that is noticeably quieter than
the surrounding talk.

- A speaker may also use overlap as a strategy for taking a turn, as well as
to prevent someone else from taking the turn. The following example, from
the same data set, shows this. Here, the lecturer has asked Tadashi a
question but another student, Kylie, wants to take the tumn and constantly

DA 4. 7+8 Last
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| uses overlap to do this:

Lecturer: There are hundred and forty nine M5 courses. how many languages tourfs
e

Kytie: [thilrty milght]? I

Tadashi: fuh]

Kyfie:  [thirty sight?

Tadashi: [ uh]

03)
no there are thirty eight langu|ages),

Lecturer:

Tadashi: [len]gauge)=

Lecturer: =but each language is more than one [cour]se.

Tadashi: : [ye:h]

Kylie: ah [that’s nght Yeah that's right yeah)

Lecturer: [manylanguages hajve mojre than one]

Tadashi: [ uh: ]

LDy PEGARES e DR ISR S S N e

Lecturer: [course] T —

Kylie:  right= AL S ) e Y. B

Tadashi: =uh huh huh=

Lecturer: - =ali ight?{)doyouremgmber? — b

Todushi: |don'tremembec= (goging)

Sospwes =no? (02)0K8Y, . = ooy e e _____.____;::_ —r
Kylie here wants to take the turn even though she's not nominated, but

she wants to prevent Tadashi from speaking. She wants to take his tum.

And notice how many overlaps we have here. Kylie wants to keep

speaking. |
Tumn taking, then, varies according to particular situations. In a

for example,-it is-often the teacher whe-nominates who can take

B

a turn.
In. a-lecture, maybe the .lecturer needs to nominate a person so there
wouldn't be people talking with each other. e

Ashdmm,mmymtrupond.nrtmdmﬁmyw“‘“mh

turn(ﬁhﬂn.banmmph}.smﬁmynlmputupmm“ﬂ
e

permission to take a turn, -
| : L o ‘ =

Usually, if you want to say something in a classroom, you wou
AYDI® 2025 12
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your hand. This is also a way for yvou 1o ask for permission, to be in order
so you can speak.

Tum taking may also depend on factors such as the topic of the
conversation, whether the interaction is relatively cooperative, how well the
speakers know each other, and the relationship between, and relative status
of, the speakers.

It depends on a lot of factors like the topic of the conversation and how
cooperative they are and how well they know each other.

A turn constructional unit, further, can be made up of a single word such
as in the above example where the lecturer simply says, ‘Comments?’, or it
may be an extended multi-unit turn. The unit may, simply, be a sound such
as ‘'uh’or it may be made up of a word, a phrase, a clause or a sentence with
change between speakers occurring at the end of any of these units or
during them if another speaker succeeds in taking the floor (see Clift 2016:
Chapter 4 for an extended discussion of turn taking).

A.turn structural unit can be one w ﬂrd like say mg Comments?
» Adjacency Pairs
- |~ Adjacency pairs -are ‘a fundamental unit of conversational organization
and a key way in which meanings are communicated and interpreted in
conversations. Adjacency pairs are utterances produced by two successive
speakers in a way that the second utterance is identified as related to the
| first one as an expected follow-up to that utterance.
For adjacency pairs, you have an expected way to answer, basically.
Announcer: Sharon Stone’s on the phone. () how are yo:=u

Caller: very good

Announcer: | bet you get hassled about your surname
Callerr -  yesido:

Announcer: and what do you want to tell Patrick

Caller: umm that | love him very much (.5) and | (.5) and | wish him a
very happy birthday for today
By saying 'how are you?' and answering 'Very good'. we would
-consider this as a kind of an adjacency pair. So, we are answering in a
predictable and an expected way in a social interaction.
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lnm.ﬂﬂ.”ﬂﬂﬂﬂ“hhlm
mﬂmmmmmm-m..,.::’"'“m
to the pair of utterances. Hecong Pan
All these tums are examples of adjacency pairs becayge w
says their tum and then they wait for the other speaker ¢, Hn;: Peake,

expected way. This is the expected way that a conversation ﬁhnuldtr o e
- T Ro

Arguroents show a similar pattern in that once a point of yigy 1
expressed, a possible follow-up is a ‘challenge’ '“‘Wh,.-hh"l,
The following examples from an argument about the need for 5 ¢ - °™.

bouncer 4

a party show this:

Ryan: I'm gonna have to get Peter Ta come overtoo  Pojnt of ion
0.9)

Marie: why= ' ki = Challenge

Ryan: =so people don't crash the pa:rdy Response

- Ryan's saying his point of view. Then, Marie is using a. challenge
this pair that we call it a challenge and a response. So, here she's asking {
for more information. She's asking him for a better way 1o explain k
himself. And Ryan says so people don't crash the party. This is the way
the American people talk. Here, the arguments also follow an expected
way of happening.
Marie: Oh they won't crash the ' ' Challenge

[pardy sweetheart]

Ryan: [OH YEAH () YEAH] Maybe twenty years ago Response
mmm () you know (0.2) like today I-I- () th-
there be ea-easy another forty people if ya:
: didn’t have a person at the gate |
Notice how they're speaking over each other. We have an overlap. This
--4s5an example of an adjacency pairs n an argument. -
Next time, we'll talk more about adjacency pairs.

- H—_‘ﬁpv‘ﬁ'fna;_q......a..;u_‘." i S
LA

- -t

. I 'ﬂ
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LECTURE NO. 8
THE LAST LECTURE
22.02.2025

HELLO EVERYONE!

~ We talked aboul closing conversations, opening conversations. and
about these transeription symbols. We talked about turn-taking and how to
hold the (Toor, how to nominate other speakers when turn-taking. and we
also looked at adjacency pairs, We said that adjacency pairs are
atterances that are produced by two utlerances said by two speakers. And
usually the second utterance is said in an expected way, as an expected
response o the first utterance.

» Adjacency Pairs Across Cultures

-Be'al's (1992) -:tudy of communication prnbiem: ina workphc- setting
| between. French and English speakers provides an example of this. Be'al
found that the French workers often responded to the everyday greeting
‘Did you have a good weekend?' by stopping and_telling the English-_
speaking workers all about their weekend.

We have an example of British and French co-workers working in an
office environment. The British co-workers would ask the question, Did
you have a good weekend? And for French speakers, they are expected to

answer truthfully. So they would start telling the English speakers how
their weekend actually went.

The English-speaking workers were irritated by this and did not realize
that a French speaker would not ask this question if they did not want a real
(and complete) answer. They did not realize, further, that this is not a
typical question French speakers would ask each other in an everyday
conuérsational-situation;- and, even-though they sometimes responded by
telling them about their weekend, they also saw the question as an invasion
of their privacy. Expected follow-ups in the use of -adjacency pairs, then,
| varies across language and cultures.

But for English speakers, this is more of a like a discourse thing. So,
when they ask you this question, Did you have a good weekend, they don't
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expect you to say a full answer. Becavse French Speakers don'y hav
type of question in French. So, we here we have ml‘“lmlcrqt'c s
between culture. This 1s what we mean by adjacency nd
culture. |

For Brinsh speakers, they found answering truthfy
weekend s hike a violation of their privacy. Because
expected to say that in a conversation,

> Preference Organization: the first pair part & the second pair pary

The basic rule for adjacency pairs, then, i.&mmn.mhm
ﬂm-pﬁrmmmmstwu&inglndluwthem,m;
produce a second pair part.

So. the basic rule of adjacency is that the first speaker js €xpected to say
an utterance, stop. and then the second pair i1s also expected say an
utterance in response to the first utterance.

The first pair part and second pair part in any interaction. the first pair
part 1s said by the first speaker-And the second pair part is said by the
second speaker. It's the first utterance and second utterance, the first pair
part and sccond pair part: So, in adjacency pairs; the first utterance said is
called the first pair part, the second utterance is called a second pair part.

For the example that we talked about last time:

Announcer: Sharon Stone’s on the phone. () how are yo:u

ing

y  about their
they were JUSE ot

Caller: very good "

Announcer: | bet you get hassled about your surname

Caller: yesido:

Announcer: and what do you want to tell Patrick

Caller: 'umm that | love him very much (.5):and | (.5) and I wish him a
very happy birthday for today

We:weuld consider the first-utterance in the first line as a first pair
part. And 'very good' would be considered a second pair part. So.
because these follow each other, they are said in response to each other.
That's how we organize adjacency pairs.

There-is, however; a certain amount of freedom in responding to some
first pair parts. For example, a compliment can be followed by an ‘accept’ or |
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|2 'rejects

wWhen 1 invite you to something. you could reply to me in many ways.
One of them is accepting. one of them is refusing. If the first pair part is
me asking, vou wonld you ke to have a eoffee” And you said. Yes That's
the cecond pair part which s neceptance Or it conld be saying no, thank
vor which is here a refusal second pair part

Thus, some second pair parts may be preferred and others may be
dispreferred.

we call these mto a preferred and dispreferred second pair part. What
do 1 mean by preferred and dispreferred? Me offering you collee, [ would
like you to accept. 1 wouldn't like you to not accept. That's why
acceptance here s considered a preferred second pair part and a
pefusal is considered a dispreferred second pair part.
" For example, a question may be followed by an expected answer (the
preferred second pair part) or an ‘unexpected or non-answer (the
.| dispreferred second pair part).-When this happens, the dispreferred second
pair part is often preceded by a ‘delay’, a ‘preface’ and/or an ‘account’.

When a dispreferred second pair part is happening, it's usually preceded
by a delay or by a preface which is basically saying Well or U/mm. I'm
using these words to delay my answer to you because I know 1if's

dispreferred.

Second pair parts
First pair parts Preferred Dispreferred
Request Acceptance Refusal
Offer/invite Acceptance Refusal
Assessment Agreement Disagreement - |
Questio;_ Exi::écted answer | Unexpected ansv.;;r or non-answer
| Blame
Blame Denial Admission

In a request, the preferred answer is acceptance. The dispreferred is
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refusal, just like an offer or an invite. The

acceptance jq P"’fﬂ'rrcd
refusal s dispreferred. a

|

| The following example iflustrates this: |
A Are you going out with anyone at the moment? (Question) |
B Uhhh (Delay)

Well, kind of (Preface)
Thnhmlm-whﬂohct...mimu N .
married at the end of the year (Unexpected answer) . v 9etting

The preferred answer to this question would be na
answer. But first, B delays then prefaces. Then the
dispreferred answer happened which is /'m getting may
like 1 am telling you what happened. I'm giving you an

UNEXpecteq
Tied, Account &

account of Wha_t

J Ammmbyo'smnnmynnsym

.1 e
‘Organization in barrister'client interactions where - |

Banister: - the twins Michael and. Allan ()-live with th wife
employed as an apprentice butcher =

Client:  oh not MiChael, ALLan=

Barrister: ALLAN. Ye:s.

Solicitor: alrigh.

Bamister: (0.1) ALLAN is emplayed as an apprentice but(cher] =
The client here corrects the barrister. He corrected the name. That's why
we're calling it other-correetion because it's not the speaker correcting—- _
himself, but it's the other speaker correcting the lawyer in this case.
r Hniucum“mtcorucud, it-formed the basis of an inference -
that the information provided was correct.

Fhe client only corrected (Michael to Alan). So, the barrister infers that

'lh#ﬁmlrunn
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he first information 1s correct So. Michael and Alan are twins, and they
1 : ; ‘

Il' with the wife Becanse the chient didn't correct them. he inferred that
Ive b :

pis information 1s correct. So, when we don’t have other-correction. we
mne

for and understand that the information 1 said 15 correct
I

In this example, we have another other-correchion, which 19 the chent
cofrects the barnister. and the barmster accepts the correction. By saying,
tllan. ves, he accepls the correction. Or he accepts it and confirms 1t in
like the other part. when he sayvs Alan again. He stops a hittle bit and says
{lan with a londer voice.

The following example, a continuation of the above extract, shows an
example of the client not providing an expected answer to the solicitor’s

&

solicitor: [How] long has he been an apprentice butcher.=

Client  not very long.

solicitor: © how long. °

Client: ~~maybe three foar months I'm not sure=
.Solicitor:  is rRow employed?

Cient: o justleave it that's fine

" The solicitor wants to get a preferred answer from the client. The
preferred answer from the client is that he wants them to actually answer
him. So, the preferred answer or the expected answer to "How long has
he been an apprentice butcher?' would be to actually tell him. He wants to
know exactly how long. So, the solicitor asks him another question to try
to get the actual answer by asking sow Jong. This is a lawyer and a client
interaction. So, maybe the client doesn't want to provide that information
or maybe he just simply doesn't know. That's why he said, just leave it

that's fine. The client does not want to give the information or he doesn't
have it. It's an unexpected answer, I guess.

L. » insertion Sequences |

We mentioned insertion sequence before with the closing statements
and opening eonversations. We said that sometimes we insert another pair
before closing the information. And we can have many insertion
sequences.
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Sometimes speakers use an insertion sequence, thay h,

between the first pair and the
| :m uﬂouncymir m:::r recond paie n-::
Ryan and (0.2) can | have a D) too (0.1) is that OK
(0.2)
Marne: John
John:  What

Marie: can he have a DJ () DJ=
Ryan: =cause you won't be spending much on foo:d sg | thought 02)
lohn well how much does a DJ cost

Ryan: yeah I've got to find out

We have an interaction between a son asking his parents about hay, :
DJ for his birthday party. For the first pair part, and can | hgy, a i, J
foo” Is that okay? Where is.the second pair part? Marie Inserted ,
sequence. She asked the question to her husband. So, she didn't replyto
her son, but she passed the question to her husband, John. Byt Johp
answered the question by a question, well how much does a DJ cost.

Notice how there's a distance between the first pair part and the secong
pair part. And that we would call an insertion sequence because she
didn't answer. She gave the question to her husband by means of ap
insertion sequence. And we talked about this with closing statements,
Maybe we can look at them at the end.

» Feedback
Amnother aspect of spoken interaction is the use of feedback. And we
use response tokens, such as you know, to show me that you're listening,
usually you say yeah. We call those response tokens.
| Another aspect of spoken interactions that have been examined by
—| conversation analysts—is the ways- speakers -provide ~each other with
feedback, that is, the ways in which listeners show they are attending to
what is being said. This can be done, for example, by the use of ‘response
tokens’ such as ‘mmm’ and ‘yeah’, by paraphrasing what the other person
has just said, or through body position and the use of eye contact.

Remember when we talked about turn-taking between the lecturer and

DA 4. 748 Last 22 AYDI® 2025 T2



- connh R

| students? Here, we have another example from it
¢ twWu =

t:durer_ And the middle one () i:s:
:-.d.;hi: Colmmunity 7] community.
Kylie: [community] ?
Kylie: Community, | think it js?
radashic ° Yeah © =
Kylie =Yeah,=
radashi; = °Ohyeah®
(04)
Kylie: Communi - self community. [yeah] . =
Tﬂl.’l'h“ ? [yeﬂh] 0=

=Community French community

Tadashi and Kylie provide feedback to each other using the token, and
the repetition of keywords, falling intonation and latched responses. By
saying C ommunity? to each other, they're giving feedback to each other by
repeating the same word. They're also providing fecdback to each other by
saying yeah. or by using like latched utterance. | -

It is not always the case, however, that items such as ‘yeah’ and ‘mm’
perform an acknowledging function in a conversation.

F-_They don't always provide an agreement, an acknowledging function.

| _Where.it does provide an acknowledging function, it may also serve to
prompt a topic change, a recycling of a topic, or it may solve a dispreferred
action, for example. The function response items such as ‘'mmm’, ‘yeah’ and
‘0K’ perform are also influenced by the intonation, place and timing of the
utterance.

It depends on context on how we analyze it.

An important strategy that speakers use in spoken discourse is what is
termed ‘repair’, that is, the way speakers correct things they or someone
- ' else has said and check what they have understood in a conversation. Repair
is often done through self-repair and other-repair. |

Repair here means to correct what others have said. Remember the
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harneter and the client when the barrster was

: "
~xample with the i : . |
L“:I'l hp . ~ﬂ|r‘.h:"1“"f ac n bulk her apprentice Here's an example of remi

r 1AM | > |

I 1|| That's why we conader this as an nl!‘ur repair hecanse 1y i
o rmation that the first speaker has el J q

gpeaker 1€ OPRINNE the mh‘m oS sy's study of berrivees
The mﬂmmﬂ”ﬁm In this case, m;:":
wmummmwnﬁdhhtmhﬁu
been said:
Client._ because (10) he's got a gilfriend - oh (0.5) 2 woman and ah (05
He corrected himself He did a self repair from gulfriend 1, Wman
hecause mavhe he's not sure if she's s girlfriend. mayhe he's not sype i’y
his wife. <o he comrected himself which what we call a self-repayr
Wmmwhlnﬂnmilwmthoﬂmm.m
following example from the same data set shows this:

Barrister Michael is employed as an apprentice butcher.=
Chent. =oh not MiChael, ALLan

Another repair 1s when the incorrect information is noticed by the other
speaker. So. 1 need to repair it.

| » Discourse Markers

Discourse markers are items in spoken discourse which act as signposts’
of discourse coherence.

This allows me to have coherence in the conversation. Remember
when we talked about coherence in discourse? This 1s also similar to it but
this 1s different because we're analyzing it as conversation analysis not as
written discourse. It's a different type of analysis.

This includes interjections such as oh, conjunctions such as but, adverbs
such as now, and lexical phrases such as y’know.

These stuff that will make the conversation coherence.

They can be at the beginning, middle or end of an utterance and can
serve both as anaphoric (pointing back) and cataphoric (pointing forward)
reference in the discourse.

They can serve as both: either cataphoric or anaphoric references in the

" g spoker LEN 1o whiere | Bmoin the L0 vt Lt sy
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1isct\“ﬁc'
\L nhmh.mgu{mhnmﬂmmeHindkﬂum

M“ﬂ..l state, as in:
. Was that a serious picture?
Freds: Oh:! Gosh yes!
Notice how this oh is clongated and maybe said with a rising tone. Here
che's ‘pdicating an emotional response, astonishment maybe.
Oh can also initiate a self-repair, as in:

There was a whole bunth of oth - | was about - oh: younger than Roben
I”._!gu_tﬂh_.t.mybeju'sm. sixteen -
" This guy 18 sell-repairing his information using oh as a marker. N
r’,ﬁan act as other-initiated repair: S———
Jack: How bout uh . . . how bout the one . . . uh . .. Death of a Salesman?

Freda: Well that was a show, sure.
jack: Oh that was a movie too

Here, oh is initiating an other-repair.
@@ﬁﬂ@pﬂhﬂ:ﬂiﬂﬂﬂnﬂ.ﬁim - D

————

Jack: | The rabbis preach “Don't intermarry” -

Freda: | But | did- But | did say those intermarriages that we have in.this country
are healthy

To preface is something to say before. 'intermarry’ means to get married
to your cousin. So, Freda here is using bul to preface her idea. Jack 1s
saying the rabbis preach -don't intermarry. Rabbis are Jewish men of
religion or rabbis. Here, Freda is using but to preface her idea which is /
did say those intermarriages that we have in [his country are healthy.
She's kind of like disagreeing with Jack a little bit. Or she's saying a
different idea than Jack. This is another pattern of cohesion.

Now can indicate attention to an upcoming idea unit, as in:
_ Solem.. .| think for a woman t'work, is entirely up t'her. If, she can
handle the situation. Now | could not now : alone

iust like but, we used Now to preface an idea.
];Mhanhemcdtninﬁﬂhammplﬁsma_sin: el

DA 4.7+8 Last 25 AYDI® 2025 T2

| I




?" ‘

a I's nice there 4
jgn't that nice
b Now our streel Ish re
know can be used (among many other things) to gain I
im:tm-l-mﬂ and consensus, as in: "eorey
: it th
b | believe . that ... yknowits fate. _ :
So eh y'know it just s- seems that that's how things work y
5
: asking the hearer's involv i
Bv saying. Vou hm"l!. | am 7o g-i il ement, o ' <
trving to get the hearer involved with wha ying. F

: . He defines di T
olso discusses discourse markers Iscourse markers
Fraser a relationship between the segment they introdyce Ind.:

= i discourse.
| prior segment in the : e

So. they connect the segments of the discourse. When they yseq g
thev're signaling a relationship between these two utterances, or between

the parts of the discourse.
' He argues that they have a..core mmng..but that Ml'_-_-_-_hh‘!pl'ﬁ
interpretation is negotiated by the _linguistic_and conceptual context in

which the item occurs.
ﬂnmnfmdiscnuﬁenmkmunalmcanysocialsﬁgmmu
the use of like being associated negatively with California "Valley Gigy

speech
When you're watching Valley Girl, we have that stigma of a valley girl

in America. She keeps saying /like. It is always used in her speech. So, that
can be used to stigmatize that type of speech. So we're using it as a

stereotype.
and or nothing as in ‘| don’t know or nothing’ being stereotyped as an’
indicator of young working-class British speech.
So, discourse markers are carrying social stigmas. Like the Valley

Girl and the British young workers.

So, they're not just also' defining a relationship or signaling a
relationship between conversation or discourse parts. They can also be
used as stigmas. '

We're going to skip Gender and Conversation Analysis. It has more
like theoretical knowledge about Judith Butler and how utterances
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is used to construct our reality. We used to think that language

social reality. But now we've moved on to actually looking at hogw
page constructs social reality.

lalﬁr h Conversation Analysis and Second Language Conversation,

we telling us that they don't just study how native speakers talk.

e also studying h‘uw non-native speakers talk, and how they use

o second language diffcrently, perhaps different from native-language

kers.
While conversation analysis has very many strengths, it has also attracted
criticism- : : |
Remember how we said that conversation analysis is only based on
what is said in the conversation? Some people criticize that it's not enough
because they said that you can never have an unmotivated view of the
utterance.
[~tiamimersley (2003) argues that conversation analysis’ view of itself as
ﬂfaﬁﬁdﬂﬂmenditodkpuﬂemﬁcﬂuth.ﬂuMMHdwm\
The conversation itself is not enough for analysis. We need to know
more about it. We need to know about the context of the speakers. Where
do they live? What do they do? Who they are? We need to know a little
_bit about-them in order to be able to analyze the conversation to give us
more insight about 1it.

mmgmmm“emmdmﬁm:mm\
perspective, we are working as ‘spectators’ and not ‘participants’ in the
iﬂncﬁm-h--is.ﬁus.mtmﬂypuﬁbhfuruitnhmhmﬂn\
pwﬁdpmﬁﬂﬂucwemﬁmwmmukﬂumhkahomt.in\
-Lreality--possible for-an analyst-to start-on the analysis of their hﬂ.lk
comphhlyunmnﬁnted.ﬂutil.jutlnuﬂngatﬁututbnm'whﬂﬂ
there” without any preconceived notions-of what this might be. B
- We can't look at the text without having preconceived notions of what it
is. So, he's saying that there's no unmotivated looking at conversation
analysis.
He criticizes.a study done by Schegloff. .
| H‘-ﬁ“ﬂumbofushﬂyhy&dngloﬁofmwmuin;mﬁmd
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| relationship, either separated or divorced, talking about their son ON the
telephone. As Hammersley shows. there is no information about y,,
relationship between the people involved in the conversation i, the
| transcript.

Hammersley there's no information nbout the people snd |y the
conversation But ScheglofT meluded that imformation in his analyg. r,;“'
this information that the speakers are divorced, or separated. 1t's crucyy) o
our understandmg ol the conversation, 1sn'tUit? s,

| This information is, however, crucial to an understanding of
| vonversation and is, in fact, implicitly drawn on by Schegloff in his analysis
'and interpretation of the data. Hammersley's view is that conversation
analysis could be more usefully combined with other qualitative, and eyen
| quantitative, approaches to discourse analysis to help us further understand
| how peeple use conversation to engage in, -and construet, their social lives
Conversation analysis, on its own, he argues, does not tell us all there is to

' know about human social life.

We have another person also who eriticizes conversation analysis. His
name is Wooffitt.

The first of these is conversation analysis’ lack of attention to issues of
-Hpoewer, inequality and- social-disadvantage...The second .is the lack of
attention in conversation analysis studies to wider historical, cultural and
political issues. - ) _ -
He criticizes it for its lack of attention to issues of power, inequality and
social disadvantage. They think they should only base their analysis on
transcription of the conversation. They tend to ignore issues of power

relations. of social disadvantage, and of wider historical, cultural, and
political issues.

| Wetherell (1998) argues that conversation analysis would benefit from
 considering post-structuralist views on discourse.

They don't believe that it's hopeless, thongh. It has a future. :
> Exercises i
- Exercise 1: Keeping the floor, giving: up.the floor and claiming the floor
Analyse the following conversational extracts and indicate how the
_speakers keep the floot, give up the floor, claim the floor and signal the end
of a tumn. (In this extract = indicates a 'latched’ utterance. That is, there is
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the end of one utteranc
B ) ® and the start of another. A ful

tmmdoltlnﬂrﬂuttmnuhﬁnmhlhg
ﬁédmmmmmmw.ﬂ?“

Tﬂm Pnundt | think wasn't it =
l.

8 _thn youl believe n?

c Twelve pounds on the Weight Watchers' scale

We have latched speech = So, how do dpeakers hold the Noor” We

have:
o a latched speech

o a rising intonation at the end of Can you helieve it” because they're
asking.

1. The first utlerance: 12 pounds, I think, wasn't it?

2. The second speaker (B) tries to claim the floor by saying a latched
speech. Can yvou believe it?

3. The third speaker (C) 1s also trying to claim the floor.
Let's look at the self-repair and other-repair in the third exercise.

_ﬁ_l'f !:_:impl-ﬂ of gelf-mpair and other-repair in the following extracts:

{'m going to the movies tomorrow ... | mean, the opera.

» 3

B

A I'm going to that restaurant we went to last week. You know, the Italian one
in Conduit St.

B: You mean Store St, don't you?
A ?eah._That‘s right. Store St.
(iii)
_ A Whatwould happen if you went back home and didn't get your diploma’
B: If | didn't get my degree?
A: Yeah.

B: Well ... it wouldn’t be too serious really ... No ... actually . .. I'd get into 4
lot of trouble . . . | don‘t know what I'd do.
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: . e first extract, yq 1t -
“ pIv yree oxtracts In the fir LU LI BT |
They give 18 L Ifor PRI oy 14

nther-repait”

m
A |hmnmmm.._lmm. the opera

I1's self repair Instead of movies, he means the opera

(#)
A I'm going to that restaurant we went to last week. You know, the Italia
: 2 e

in Conduit St.
B You mean Store St, don't you?
- Yeah. That's right. Store St.
This is other-repair. The second spcaker other-repaired m

information that has to do with the name of the street. Apq the firg
speaker accepted the correction, Yeah. That's right. But he didn confirm

it vel again. &
What would happen if you-went-back home and didn't get your diploma?
If | didn’t get my degree?

Yeah.

Well . . . it wouldn't be too serious really . . . No . . . actually . . .I'd getinto a
lot uftmubig. .. 1 don't know what I'd do.

Look at the first part of the conversation. When A says "[I_.i[_]];um'. B
says "degree'. So, the second speaker repaired the word.

o 2 | > =
>3

Idmﬁfypmfeyredutdd_isgmferredwinﬂuhllnwingmm

0]
A:  That’s a nice shirt
B: Ohthanks
(i)
A Would you like to come to the movies on Friday?

B: Uhhh ... I don't know for sure. | think I-might have something on that night
Can we make it another time?
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about the first extract? Is this a preferred or a dispreforred
wha!

}
sV preferred.
‘ . Definitely preferred because he's accepting. It's an

(ance ol the compliment.
ut the other example?

. Dispﬁrﬂmd'
ﬁﬂi . This 1is dispreferred. And notice how he starts with the

wfﬁ‘[ And then, I don't know for sure. It's like a preference. And

] I R i
d:;fﬁehha\m here an account. He's telling him what's happening. He's
t

cplaini himself. And then he's doing the dispreferred response; non-
cxplaining

CIIthed ﬂn- ".’.A.-TEL .
" How do the speakers in the following extract indicate they are about to

A Wh;doﬂ_ _‘EE ;_:lihgue_!unﬁh? B
'3 Okayso that would be in StJude’s would it?

A Yes

B ' Okay so: a

A _O:e;clgﬁn :dle_ bar - _ —
B Oy |
A Okay? .
:LEI‘W then thanks very much indeed George =

B:" //See you there
A:  See you there
B: Okay

A Okay // bye
4 Bye

How do they indicate they're about to close the conversation? This is
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s the conversation I think 1t starte a1 the
hat the conversation 1% ending Cony,
TRLE LLEL closing sequences

very long closing It
Thev're indicating !
over. And then all of

p“‘]‘qﬁ ‘r' "
"raaf '
"N here

L]

Fxam questions 1§ going 10 be into two parts

» theoretical qusﬁnnl I'm going t.n ask actually abeuyt theary
space ot fill in the right word fdefinitions /choose the corrazy G
1 ~ mﬂr”

/actual-factual information). I'm not going to stress too muych ,
,;,,.,,h,“ the big ones, such as Schegloff, and from the previous

well _
Practical this has 0 do with analysis. Just like here in the exertises ppg

they could be from the book itself. I'm not going to bring P
outside of the book, just stuff from the book. For example, is the P

preferred of dispreferred? Acceptance or refusal? So, you're going 1o
have to analyze the conversation. And the same with discourse analysis |

| might also-have like an extract and ask you. And also the symbols i
\ conversation analysis.in chapter > are important.
"~ I'm not going to make the question too difficult. Good luck.

- - Thank You

il N the

" Nama.

B

- Wish you all the best
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